Svenska Bridgeférbundet
HQ-fonder Guld, del 2 2010-08-07

Partavling, 31 bord, 61 par. Antal brickor: 72. Medel: 2085.5. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 42 26247 62.85 Sven Ake Bjerregard - Magnus Eriksson 1058 1170 BK S:t Erik - Harplinge BK
2 31 2330.9 55.82 Gavin Wolpert - Mikael Lindblom 92771 5094 Ejmedlem - BK S:t Erik
3 19 2300.3 55.08 Urban Bjorklund - Daniel Eriksson 9496 24659 Sdderhamns BS - Bollnas BK
4 2 22783 54.56 Rolf Scherdin - UIf Nohrén 3102 2798 Géavle BK - Upsala BS
5 50 2271.1 54.39 Leif Lysebring - Jordan Gachev 10391 +469 Varnamo BK - Bulgaria
6 4  2266.0 54.26 Mikael Westerlund - Kent Johansson 9690 1834 BKLyx
7 8 2250.8 53.90 Sveinn Runar Eiriksson - Omar Olgeirsson +509 +128 Iceland
8 6 22241 53.26 Tom Gérds - Johan Sylvan 13002 2325 BK Bjorken - Nasby BS
9 41 2223.8 53.25 Ulf Backman - Andreas Westerlund 82648 86090 Kristinehamns BK
10 14 2218.7 53.13 Peter Karlsson - Johan Wedeen 2382 1166 BK Centrum - BK Everfresh
11 25 2209.2 5290 KentMaltein - Erik Gulliksson 15967 24169 Gavle BK
12 59 2204.3 52.79 Goran Selldén - Jan-Olov Andersson 4863 3542 BK Lyx
13 48 2202.7 52.75 Ragnar Magnusson - Pall Valdimarsson +460 +154 Iceland
14 20 2202.6 52.74 Peter Bertheau - Emma Sjoberg 16757 80922 BK Lavec - Filbyter Bridge
15 3 21943 5254 Suzanne Larsson - Tore Stormo 14984 78250 Karlstads BK - Arla BK
16 28 2193.0 5252 Bo-Henry Ek - Andreas Westman 2381 23603 Orebridgen - Sundsvallsbridgen
17 37 2183.4 52.29 Kathrine Bertheau - Jessica Larsson 81089 17400 Filbyter Bridge
18 23 2158.2 51.68 Leif Axelsson - Markus Hedstrom 1706 87082 Skovde BA
19 36 21529 51.55 Bjorn Wenander - Thomas Therkelson 4856 4805 Mdlnlycke BS
20 21 2150.1 51.49 LenaWestman - Frank Westman 18164 2822 BK Fyris - Upsala BS
21 22 2136.6 51.16 Hakan Lindblom - Peter Carlsson 1437 11594 BK S:t Erik
22 5 2131.3 51.04 Lars Ericson - Bo Ericson 12536 2962 Gavle BK
23 15 2126.5 50.92 Mats Johansson - Lars Ohlsson 15014 2795 Ranea BK - Sigtuna BS
24 18 2125.0 50.89 Gunnar Andersson - Anders Palmgren 18507 1340 BKALERT
25 53 21229 50.84 Tommy Hagstrom - Leif Linder 9775 11580 Upsala BS - Sorsele BK
26 39 2109.0 50.50 KentKarlsson - Bengt Bergstén 3918 4090 Uddevalla BF - Orebridgen
27 57 2104.4 50.39 Peter Backlund - Kjell Swanstrém 244 2198 BK S:t Erik
28 38 20924 5011 Ake Rustad - Mats Hall 13652 148  Malungs BK - Borldnge BK
29 16 2091.6 50.09 Mikael Gronkvist - Mats Sjoberg 85230 1198 Orebridgen - Filbyter Bridge
30 27 2086.2 49.96 Johnny Petersson - Kenneth Osterberg 10420 4700 Varnamo BK - Hassleholms BK
31 33 2084.7 49.92 Ted Olows - Lennart Bylund 8281 8234  Sundsvallsbridgen
32 29 2084.6 49.92 Lars Andersson - Ann Axell 18938 88969 Gavle BK
33 44 2080.0 49.81 Anders Johansson - Carl-Ake Hollander 18441 20591 BK Fyris - Kristinehamns BK
34 9 20775 49.75 Rune Carlsson - Rolf Tjorswaag 11874 +303 BK Allians, Halmstad - Norge
35 12 2072.5 49.63 Lars Forsberg - Sixten Pettersson 4010 3995 Fagersta BS
36 26 2068.3 49.53 Kenneth Meijneken - Leif Ernstsson 21032 13674 Nora BK - Lindesbergs BS
37 60 2059.9 49.33 Eva Gunnarsson - Peter Modh 12598 1605 Bohus Nations BS
38 49 2059.8 49.32 Lars Lundgren - Mikael Rydstedt 10275 90657 Arboga BK
39 24 2056.0 49.23 Joachim Borgel - Tommi Ramstedt 4050 51783 Lindesbergs BS - Jarnvagens BK
40 47 2033.3 48.69 Berith Andersson - Lisa Bergqvist 12506 89691 Boden-Savast BS
41 34 2028.5 48.58 Ola Rimstedt - Mikael Rimstedt 88183 88184 Harplinge BK
42 32 2026.8 48.53 Leif Olsson - Jorgen Nielsen 5891 5840 BK Lavec
43 56 2008.7 48.10 Vidar Wahlestedt - Peder Olrog 121 9180 IFK Karlskrona - BK S:t Erik
44 1 1999.6 47.88 Anna Bergek - Christian Bergek 92648 92649 Motala Bridgeallians
45 43 19895 47.64 Magnus Gauffin - Christer Arenborg 10676 12021 BK S:tErik
46 55 1982.1 47.46 Claus Rohnisch - Anders Strém 4081 86698 Orebridgen
47 10 1982.0 47.46 Brynja Dyrborgardéttir - Harpa Fold Ingdlfsdéttir +486  +485 Iceland
48 62 1979.6 47.40 Roger Ahlbom - Per-Anders Sjoblom 11528 3259 Bergsjo BK
49 46 1967.9 47.12 Torsten Astrand - Leif Lyngmo 1393 85153 Motala Bridgeallians
50 11 1939.9 46.45 Christer Swenson - Rolf Carlsson 1859 15635 Skovde BA - BK Zonen
51 45 1932.6 46.28 Johan Safsten - Marcus Hjelte 35452 84282 Upsala BS - Raneé BK
52 51 1928.2 46.17 Per Schullstréom - Orjan Sjoberg 28089 25534 Amaéls BS
53 52 1915.8 45.88 Kerstin Strandberg - Lillemor Strindberg 9216 8806 BK S:tErik - Arla BK
54 54 1915.1 45.86 Olle Sandstrom - Jonas Dahlgren 88848 84341 BK Bjorken
55 40 1915.1 45.86 Arngunnur Jénsdottir - Gudrin Johannesdottir +483  +484 |Iceland
56 7 1902.7 4556 Borje Brag - Agnes Suranyi 19633 +501 Partille BK - Ungern
57 35 1886.3 45.17 Jan Fransson - Anders Norin 12537 8191 Gavle BK - BK Allians, Halmstad
58 58 1837.7 44.01 Johnny Petersson - Frank Hansson 11931 82222 Karlshamns BK
59 30 1836.9 43.99 Joakim Karlsson - Bengt Lund 25783 3676 Karlstads BK - Arvika BS
60 13 1815.4 43.47 Simon Hult - Philip Berggren 36107 39845 Overums BK - BK Lyx
61 17 1783.4 42.70 Bjorn Sorling - Christer Eriksson 80438 9292 Bohus Nations BS - Upsala BS
1 4104 2 4 KD86532 3 41073
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Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
9 10 44 O-1 *4 50 540 4.0|59 60 34 S+1 vA 170 58.0 0.0|29 30 54DV-3 *4 800 58.0 0.0
27 28 44 O-1 43 50 540 4.0|33 34 4v V-1 aK 50 55.0 3.0|23 24 54D O -2 +Q 500 56.0 2.0
29 30 44 O-1 v9 50 540 4.0|53 54 5v V-1 oK 50 550 30| 1 2 44 0-2 +Q 200 53.0 5.0
43 44 44 O-1 *7 50 540 4.0|21 22 3v V+2 *6 -200 52.0 6.0|59 60 44DO-1 4K 200 53.0 5.0
47 48 44 O-1 »7 50 540 40| 5 6 4v V= aK -420 39.0 19.0|21 22 3¢ S= a4 110 50.0 8.0
25 26 3v S-1 a2 -50 48.0 10.0 (11 12 4v V= oK -420 39.0 19.0| 5 6 34 0-1 oK 100 41.0 17.0
7 8 3vyDN-1 +Q -100 46.0 12.0|13 14 4v V= oK -420 39.0 19.0| 7 8 44 0-1 +Q 100 41.0 17.0
11 12 24 O = 8 -110 44.0 14.0|15 16 4v V= aK -420 39.0 19.0|13 14 44 O-1 +Q 100 41.0 17.0
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3 4 340-= *7 -140 32.0 26.0|19 20 4v V= v3 -420 39.0 19.0|17 18 44 O-1 +Q 100 41.0 17.0
15 16 24 O +1 *7 -140 32.0 26.0|27 28 4v O = s] -420 39.0 19.0|25 26 44 O-1 A 100 41.0 17.0
21 22 24 O+1 v9 -140 32.0 26.0|37 38 4v V= oK -420 39.0 19.0(33 34 44 V-1 vJ 100 41.0 17.0
31 32 34 O= *7 -140 32.0 26.0|39 40 4v V= +K -420 39.0 19.0(43 44 34 O-1 ¢+Q 100 41.0 17.0
33 34 24 O+1 *4 -140 32.0 26.0|43 44 4v V= oK -420 39.0 19.0|53 54 44 V-1 v] 100 41.0 17.0
35 36 24 O+1 »7 -140 32.0 26.0|49 50 4v O= oK -420 39.0 19.0|27 28 3¢ S-1 ¢ A -50 31.0 27.0
37 38 34 V= *7 -140 32.0 26.0|51 52 4v V= +K -420 39.0 19.0|31 32 3¢ S-1 ¢ A -50 31.0 27.0
41 42 34 O= v5 -140 32.0 26.0|57 58 4v V= v3 -420 39.0 19.0| 3 4 3¢DS-1 48 -100 27.0 31.0
45 46 34 O= »7 -140 32.0 26.0|31 32 3NV +1 4Q -430 26.0 32.0(39 40 5¢ S-2 49 -100 27.0 31.0
51 52 24 O+1 v9 -140 32.0 26.0| 1 2 4v V+1 +K -450 17.0 41.0|11 12 34 V= +4 -140 19.0 39.0
59 60 24 O +1 *7 -140 32.0 26.0| 3 4 4v V+1 oK -450 17.0 41.0|15 16 34 V= vJ -140 19.0 39.0
1 2 24 0+2 v9 -170 15.0 43.0| 7 8 4v V+1 »6 -450 17.0 41.0|35 36 34 V= vJ -140 19.0 39.0
17 18 34 O +1 *7 -170 15.0 43.0|17 18 4v V+1 *6 -450 17.0 41.0|41 42 24 O+1 +Q -140 19.0 39.0
19 20 34 O +1 *7 -170 15.0 43.0|25 26 4v V+1 »6 -450 17.0 41.0|51 52 24 V +1 »7 -140 19.0 39.0
39 40 34 O+1 v9 -170 15.0 43.0|29 30 4v V+1 oK -450 17.0 41.0|55 56 34 O= +Q -140 19.0 39.0
53 54 24 O+2 v9 -170 15.0 43.0|41 42 4v O +1 aJ -450 17.0 41.0|37 38 34 V+1 +Q -170 11.0 47.0
55 56 24 O +2 v5 -170 15.0 43.0 |47 48 4v V +1 *6 -450 17.0 41.0|49 50 24 O +2 &K -170 11.0 47.0
13 14 34 O +2 v9 -200 8.0 50.0|45 46 44 V +2 ¢A -480 8.0 50.0| 9 10 5¢DS-2 49 -300 8.0 50.0
5 6 44 0= *7 -420 3.0 55.0| 9 10 44DN-2 v9 -500 4.0 54.0|57 58 5¢DS-3 48 -500 6.0 52.0
23 24 44 O= v9 -420 3.0 55.0|23 24 44DN-2 v3 -500 4.0 54.0|19 20 44 V= 3 -620 2.0 56.0
49 50 44 O= »7 -420 3.0 55.0|35 36 44D N-2 v6 -500 4.0 54.0|45 46 44 O= +Q -620 2.0 56.0
57 58 44 O= v9 -420 3.0 55.0|55 56 4vDV+l %6 -690 0.0 58.0|47 48 44 O= +Q -620 2.0 56.0
- 62 275| - 62 275| - 62 275
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Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
7 8 INV-2 *4 200 570 10| 1 62 3NO-2 *] 100 55.0 3.0|57 56 3vDS+1 &4 630 58.0 0.0
15 16 3v V-2 +8 200 570 1.0|25 24 3NO-2 *6 100 55,0 3.0(21 20 5# O-2 v2 200 55.0 3.0
31 32 24 N+1 vJ 140 540 4.0|41 40 3NO-2 *J 100 55.0 3.0|59 58 4# O-2 v2 200 556.0 3.0
45 46 3 S= v2 110 520 6.0|57 56 3NO-2 *] 100 55,0 3.0|31 30 2v S+2 vA 170 520 6.0
5 6 3vV-1 +8 100 36.0 220 7 6 3NO-1 *2 50 45.0 13.0|13 12 3v S= *2 140 50.0 8.0
9 10 3v V-1 *7 100 36.0 220 9 8 3NO-1 *J 50 450 13.0| 1 62 44 0-1 49 100 45.0 13.0
11 12 3v V-1 ¢*4 100 36.0 22.0|31 30 3NO-1 *] 50 450 130 3 2 44 0-1 v2 100 45.0 13.0
13 14 3v V-1 +8 100 36.0 22.0|35 34 3NO-1 *J 50 45.0 13.0(11 10 4+ O-1 v2 100 45.0 13.0
21 22 3v V-1 +8 100 36.0 22.0|39 38 3NO-1 *J 50 45.0 13.0|19 18 34 O-1 v2 100 45.0 13.0
23 24 3v V-1 +8 100 36.0 22.0|45 44 24 V-1 *7 50 450 13.0| 5 4 4vDS-1 45 -100 39.0 19.0
27 28 3v V-1 *4 100 36.0 22.0|13 12 2¢ O= *J 90 37.0 21.0|49 48 3vDS-1 *4 -100 39.0 19.0
35 36 3v O-1 *2 100 36.0 22.0|53 52 INO= *J -90 37.0 21.0|53 52 3+ 0= v2 -110 36.0 22.0
37 38 3v V-1 +8 100 36.0 22.0|37 36 3¢ O= *] -110 32.0 26.0| 7 6 34 V= 3 -140 33.0 25.0
43 44 3v V-1 *2 100 36.0 22.0|55 54 2¢ O+1 *2 -110 32.0 26.0|41 40 24 O +1 49 -140 33.0 25.0
47 48 3v V-1 *4 100 36.0 22.0|59 58 2v O = *J -110 32.0 26.0|25 24 INO +2 v2 -150 24.0 34.0
49 50 3v V-1 &2 100 36.0 22.0|51 50 INO +1 *J -120 28.0 30.0|27 26 INO +2 v5 -150 24.0 34.0
51 52 3v V-1 +8 100 36.0 22.0|11 10 2¢ O+2 *J -130 23.0 35.0|35 34 INO+2 v5 -150 24.0 34.0
55 56 3v V-1 vA 100 36.0 22.0|27 26 2¢ O+2 &T -130 23.0 35.0|37 36 INO+2 v2 -150 24.0 34.0
59 60 3v V-1 +8 100 36.0 22.0|29 28 2¢ O+2 *J -130 23.0 35.0|39 38 INO +2 v2 -150 24.0 34.0
33 34 24 N-1 v] -100 19.0 39.0|33 32 2¢ O +2 *J -130 23.0 35.0|45 44 INO+2 v5 -150 24.0 34.0
53 54 34 N-1 43 -100 19.0 39.0| 3 2 2¢ O+3 *J -150 13.0 45.0|51 50 INO+2 v5 -150 24.0 34.0
19 20 2v V= +8 -110 15.0 43.0| 5 4 2¢ O+3 2 -150 13.0 45.0|29 28 2N O +2 +5 -180 16.0 42.0
29 30 2v V= +8 -110 15.0 43.0(15 14 2¢ O+3 *J -150 13.0 45.0| 9 8 3NV= v3 -600 7.0 51.0
25 26 2v V+1 +8 -140 10.0 48.0(23 22 2¢ O+3 2 -150 13.0 45.0|15 14 3NO= v2 -600 7.0 51.0
39 40 3v V= +8 -140 10.0 48.0|43 42 2¢ O+3 ¢ A -150 13.0 45.0|17 16 3NO= v2 -600 7.0 51.0
57 58 3v V= *8 -140 10.0 48.0 |47 46 2NV +1 *7 -150 13.0 45.0(23 22 3NV= v4 -600 7.0 51.0
1 2 44S-2 v2 -200 4.0 54.0|21 20 INO+3 v3 -180 6.0 52.0(33 32 3NO= v2 -600 7.0 51.0
3 4 44 N-2 v] -200 4.0 54.0|17 16 5¢ V= 3 -400 3.0 55.0(43 42 3NO= v7 -600 7.0 51.0
17 18 34DN-1 v] -200 4.0 54.0|19 18 5¢ O= *J -400 3.0 55.0|47 46 3NV = v3 -600 7.0 51.0
41 42 34 N-3 vJ -300 0.0 58.0(49 48 3NO+1 v3 -430 0.0 58.0|55 54 3NO= v5 -600 7.0 51.0
- 62 275| - 60 28.6| - 60 28.6
7 » D865 8 &« KKn7 9 » EK97
Syd v Kn9763 Vast v5 Nord v K1052
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¢E9643 +KD ¢10763 +D ¢ 109 ¢ DKn7432
#KDKn5 #109862 *Kn7 #ED95 #EKNn1043 #K72
» K10974 « E1082 + DKn64
v K2 vD74 vED83
¢ Kn1052 ¢ K52 ¢ EK5
+E3 £643 +D9
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 12 4v O-3 49 300 57.0 1.0|59 58 34 N+1 vT 170 58.0 0.0|42 56 2¢DO-2 «Q 500 58.0 0.0
15 14 4v O-3 a2 300 570 10| 5 4 3s4S= vA 140 530 50| 132 4vS+1 v6 450 29.0 29.0
5 4 4v0-2 44 200 51.0 7.0|31 30 34 S= +4 140 530 50| 537 4v S+1 ¢T 450 29.0 29.0
19 18 5¢ V-2 46 200 510 7.0|37 36 34 N= vT 140 53.0 5.0|10 24 4v N+1 ¢+Q 450 29.0 29.0
21 20 3NV-2 46 200 51.0 7.0|53 52 24 S+1 LY 140 53.0 5.0|11 46 4v N+1 +3 450 29.0 29.0
55 54 4e V-2 46 200 51.0 7.0| 1 62 2¢ N+1 49 110 46.0 12.0|12 45 4y N+1 *2 450 29.0 29.0
23 22 3NV-1 46 100 45.0 13.0|41 40 24 S= vA 110 46.0 12.0|14 47 4v N+1 ¢+Q 450 29.0 29.0
41 40 3v O-1 a4 100 45.0 13.0|47 46 3¢ N= vT 110 46.0 12.0|15 4 4v S+1 ¢T 450 29.0 29.0
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33 32 34 S-1 *K -100 420 16.0| 9 8 4v O-2 +5 100 40.0 18.0(17 3 4v S+1 T 450 29.0 29.0
17 16 3%V +3 *4 -170 37.0 21.0|19 18 4vDO-1 4A 100 40.0 18.0(20 7 4v N+1 +Q 450 29.0 29.0
43 42 3% O +3 49 -170 37.0 21.0|27 26 2v O-2 2 100 40.0 18.0|23 54 4v N+1 *T 450 29.0 29.0
57 56 3# O +3 49 -170 37.0 210| 3 2 3v0O-1 2 50 29.0 29.0|26 6 4v S+1 T 450 29.0 29.0
58 59 3&V +3 46 -170 37.0 21.0|13 12 3v O-1 2 50 29.0 29.0|27 18 4v N+1 +Q 450 29.0 29.0
25 24 34 S-2 vQ -200 32.0 26.0(|23 22 3vO-1 2 50 29.0 29.0|28 8 4v S+1 *2 450 29.0 29.0
1 62 44DS-2 vQ -500 30.0 28.0|25 24 3v O-1 3 50 29.0 29.0|30 49 4v N+1 +Q 450 29.0 29.0
7 6 3NV= 45 -600 27.0 31.0|39 38 3v O-1 3 50 29.0 29.0|31 2 4v N+1 +3 450 29.0 29.0
51 50 3NV = 46 -600 27.0 31.0(|43 42 3v O-1 2 50 29.0 29.0|33 29 4v S+1 *T 450 29.0 29.0
3 2 5eV+1 46 -620 16.0 42.0|51 50 3v O-1 2 50 29.0 29.0|38 25 4v N+1 +3 450 29.0 29.0
27 26 5& 0O +1 *T -620 16.0 42.0|57 56 3v O-1 2 50 29.0 29.0|39 35 4v S+1 *T 450 29.0 29.0
29 28 5&V+1 46 -620 16.0 42.0| 7 6 3¢ N-1 vT -50 18.0 40.0 |41 22 4v N+1 +Q 450 29.0 29.0
31 30 5&V+1 46 -620 16.0 42.0|15 14 4¢ N-1 vT -50 18.0 40.0|43 58 4v S+1 *T 450 29.0 29.0
35 34 5&V+1 46 -620 16.0 42.0|29 28 34 S-1 vA -50 18.0 40.0 |48 13 4v N +1 *2 450 29.0 29.0
37 36 5# 0 +1 *A -620 16.0 42.0|33 32 2v V= 2 -110 14.0 44.0|50 36 4v S+1 *T 450 29.0 29.0
39 38 5& 0 +1 *A -620 16.0 42.0|11 10 3v O= 2 -140 11.0 47.0|52 9 4v S+l T 450 29.0 29.0
45 44 5& O +1 vK -620 16.0 42.0|55 54 3v O= 2 -140 11.0 47.0|53 51 4v N+1 +Q 450 29.0 29.0
53 52 5&V+1 46 -620 16.0 42.0|35 34 5¢ N-3 v3 -150 7.0 51.0|55 19 4v N+1 48 450 29.0 29.0
9 8 6#V= 45 -1370 3.0 55.0 (49 48 4¢ N-3 vJ] -150 7.0 51.0|59 21 4v N+1 48 450 29.0 29.0
11 10 6% V= 46 -1370 3.0 55.0(17 16 3v O +1 2 -170 4.0 54.0|60 44 4v N+1 *2 450 29.0 29.0
47 46 6% O = #A  -1370 3.0 55.0(21 20 44DS-2 %] -300 2.0 56.0|62 40 4v S+1 *T 450 29.0 29.0
49 48 6% V= 46 -1370 3.0 55.0|45 44 3vDO= 2 -530 0.0 58.0|16 34 3NS-1 &T -50 0.0 58.0
- 60 286 - 60 28.6 |57 - 29.2
10 4« K764 11 452 12 1072
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vD1072 v52 v K9742
+ EK9763 ¢ EKn42 ¢ Kn6
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Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
20 7 3NN+3 *7 690 58.0 0.0(16 34 2v S= Ly 110 58.0 0.0(60 44 4¢vyDS+2 v5 1190 58.0 0.0
12 45 3NN +2 3 660 56.0 2.0(20 7 44 0-1 v5 50 540 4.0(33 29 4v S+1 +8 650 56.0 2.0
1 32 3NS+1 a2 630 50.0 8033 29 34 0-1 v5 50 540 40| 5 37 4vS= v5 620 54.0 4.0
27 18 3NN +1 3 630 50.0 8.0(55 19 44 V-1 vA 50 540 4.0(14 47 5¢DO-3 *4 500 50.0 8.0
31 2 3NN+1 *2 630 50.0 8.0(39 35 2v N-1 a7 -50 50.0 8.0|31 2 5¢DO-3 *4 500 50.0 8.0
39 35 3NN+1 v9 630 50.0 80| 1 32 3v N-2 46 -100 45.0 13.0|39 35 5¢DO-3 v2 500 50.0 8.0
60 44 3NS+1 «A 630 50.0 8.0(11 46 3v N-2 a7 -100 45.0 13.0|53 51 3v S+2 +3 200 46.0 12.0
5 37 3NS= *9 600 29.0 29.0|23 54 2¢vyDN-1 a7 -100 45.0 13.0|16 34 3v N+1 ¢ A 170 44.0 14.0
14 47 3NS= *9 600 29.0 29.0|48 13 2vDN-1 +6 -100 45.0 13.0|42 56 2# N +3 +K 150 38.0 20.0
16 34 3NS= v4 600 29.0 29.0|12 45 24 O = v5 -110 35.0 23.0|43 58 5¢ O-3 *4 150 38.0 20.0
17 3 3NS= v2 600 29.0 29.0|14 47 24 O= v5 -110 35.0 23.0(52 9 5¢ O-3 *4 150 38.0 20.0
26 6 3NS= v8 600 29.0 29.0|15 4 24 O= v5 -110 35.0 23.0|59 21 2# N+3 ¢ A 150 38.0 20.0
28 8 3NS= v4 600 29.0 29.0|17 3 24 O= v5 -110 35.0 23.0|62 40 5¢ O-3 6 150 38.0 20.0
30 49 3NS= *9 600 29.0 29.0 |42 56 24 V= v5 -110 35.0 23.0| 1 32 3v S= +3 140 29.0 29.0
33 29 3NS= 9 600 29.0 29.0|50 36 24 O= v2 -110 35.0 23.0|11 46 3v S= v5 140 29.0 29.0
38 25 3NS= v4 600 29.0 29.0| 5 37 34 O= v5 -140 20.0 38.0|26 6 3v S= +8 140 29.0 29.0
41 22 3NS= v4 600 29.0 29.0|126 6 24 O+1 v5 -140 20.0 38.0|48 13 3v N= ¢ A 140 29.0 29.0
42 56 3NS= v8 600 29.0 29.0|27 18 2v O +1 &T -140 20.0 38.0|20 7 4¢ O-2 *4 100 20.0 38.0
43 58 3NS= *9 600 29.0 29.0|41 22 24 O+1 v5 -140 20.0 38.0|27 18 4¢ O-2 *2 100 20.0 38.0
48 13 3NS= v4 600 29.0 29.0 |43 58 1a V +2 *T -140 20.0 38.0|30 49 5¢ O-2 v2 100 20.0 38.0
50 36 3NS= v4a 600 29.0 29.0|52 9 24 O+1 v5 -140 20.0 38.0|38 25 4¢ O-2 *4 100 20.0 38.0
53 51 3NS= *9 600 29.0 29.0|59 21 34 O= v5 -140 20.0 38.0|50 36 3¢ O-2 *2 100 20.0 38.0
59 21 3NN= v3 600 29.0 29.0|60 44 24 O+1 v5 -140 20.0 38.0(|23 54 3¢ O-1 *4 50 12.0 46.0
62 40 3¢ S+1 v8 130 12.0 46.0|62 40 24 O +1 v2 -140 20.0 38.0|28 8 3¢ O-1 *4 50 12.0 46.0
23 54 3¢ S= *9 110 10.0 48.0|10 24 34 O+1 v5 -170 8.0 50.0({41 22 3¢ O-1 *4 50 12.0 46.0
11 46 5¢ S-1 v8 -100 8.0 50.0|38 25 24 V +2 *T -170 8.0 50.0|10 24 3v S-1 +3 -100 6.0 52.0
15 4 5¢ S-2 v3 -200 6.0 52.0|53 51 34 V+1 *T -170 8.0 50.0|12 45 3v S-1 +3 -100 6.0 52.0
52 9 3NN-3 v9 -300 3.0 55.0|31 2 4vDN-2 a7 -300 4.0 54015 4 44 N-1 *A -100 6.0 52.0
55 19 64 S-3 2 -300 3.0 55.0{30 49 4vDN-3 a7 -500 2.0 56.0|17 3 2NV= aT -120 2.0 56.0
10 24 3vDS-3 *9 -800 0.0 58.0|28 8 34DO= v5 -530 0.0 58.0|55 19 4¢ O= *4 -130 0.0 58.0
57 - 29.2 57 - 29.2 57 - 29.2
13 « DKn10853 14 « E1096 15 1098
Nord v9 Ost v D965 Syd v Kn8632
Alla +E8 Ingen ¢+ Kn4 NS ¢ Kn54
#EK95 D75 #DKn
494 a7 D74  4K832 «D5 4« E63
v10765 vEK32 vK32 vEKn vD10 v EK754
4942 + DKn1076 ¢ EKD8 ¢ 10762 +D1062 ¢ EK98
#Kn732 #D106 #E32 #1086 #K10643 &5
# EK62 « Kn5 & KKn742
v DKn84 v 10874 v9
+ K53 4953 +73
*84 #KKn94 #E9872
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
62 60 64D N= vA 1660 58.0 0.0(12 49 3NV-1 v5 50 58.0 0.0(11 29 5NO-2 *7 100 57.0 1.0
7 21 64 N= vA 1430 48.0 10.0|55 30 2v S-2 ¢ A -100 56.0 2.0({39 22 6¢ V-2 48 100 57.0 1.0
9 40 64 N= vK 1430 48.0 100(16 1 3¢ O+1 +3 -130 540 40| 3 35 24 V-1 oT 50 540 4.0
11 29 64 N= vA 1430 48.0 10.0 (24 34 1INV +2 v6 -150 52.0 6.0|59 42 3v O= *7 -140 52.0 6.0
27 25 64 N= vK 1430 48.0 10.0| 7 21 1INV +3 46 -180 49.0 9.0|12 49 3¢ O +2 a7 -150 49.0 9.0
31 48 64 N= vA 1430 48.0 10.0(44 8 INV+3 v3 -180 49.0 9.0|24 34 4¢ O+1 a2 -150 49.0 9.0
39 22 64 N= vK 1430 48.0 100 3 35 3NV= v6 -400 30.0 28.0|53 50 3¢ O+3 a2 -170 46.0 12.0
44 8 64 N= ¢Q 1430 48.0 10.0| 5 2 3NO= v6 -400 30.0 28.0|14 26 3NO= »8 -400 40.0 18.0
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54 38 64 N= vK 1430 48.0 10.0(10 20 3NV = *6 -400 30.0 28.0|16 1 3NO= a2 -400 40.0 18.0
57 32 64 N= vA 1430 48.0 10.0(14 26 3NV = v6 -400 30.0 28.0(44 8 3NO= a2 -400 40.0 18.0
3 35 44 N+2 ¢+Q 680 19.0 39.0|27 25 3NV = v5 -400 30.0 28.0|54 38 3NO= 48 -400 40.0 18.0
5 2 44 N+2 vA 680 19.0 39.0|28 4 3NV= v6 -400 30.0 28.0|62 60 3NO= *7 -400 40.0 18.0
10 20 44 N+2 vK 680 19.0 39.0|31 48 3NO= v7 -400 30.0 28.0| 7 21 4v O= *A -420 24.0 34.0
12 49 44 N+2 +Q 680 19.0 39.0|37 15 3NV = v6 -400 30.0 28.0| 9 40 4v O= v9 -420 24.0 34.0
14 26 44 N+2 vA 680 19.0 39.0|39 22 3NV= v6 -400 30.0 28.0|10 20 4v O = *7 -420 24.0 34.0
16 1 44 N+2 vA 680 19.0 39.0|45 47 3NV = v4 -400 30.0 28.0|27 25 4v O = *A -420 24.0 34.0
24 34 4a N+2 vA 680 19.0 39.0|51 33 3NV= *4 -400 30.0 28.0|31 48 4v O= *7 -420 24.0 34.0
28 4 44 N+2 +Q 680 19.0 39.0|53 50 3NV = v6 -400 30.0 28.0|37 15 4v O = a2 -420 24.0 34.0
36 41 44 N+2 vK 680 19.0 39.0|54 38 3NO= v5 -400 30.0 28.0(45 47 4v O = *7 -420 24.0 34.0
37 15 44 N+2 ¢+Q 680 19.0 39.0(56 19 3NV = ¢J -400 30.0 28.0(46 13 4v O= *7 -420 24.0 34.0
43 18 44 N +2 a7 680 19.0 39.0|57 32 3NV= v5 -400 30.0 28.0|51 33 4v O = *A -420 24.0 34.0
45 A7 4e N +2 vA 680 19.0 39.0|58 6 3NV= v6 -400 30.0 28.0(|56 19 4v O = *7 -420 24.0 34.0
46 13 44 N +2 vA 680 19.0 39.0|59 42 3NO= v3 -400 30.0 28.0|57 32 4v O= *7 -420 24.0 34.0
51 33 44 N+2 +Q 680 19.0 39.0| 9 40 3NV +1 v5 -430 7.0 51.0| 5 2 3NO+1 *7 -430 9.0 49.0
52 23 44 N+2 vA 680 19.0 39.0|11 29 3NV +1 v6 -430 7.0 51.0|28 4 3NO+1 *7 -430 9.0 49.0
53 50 44 N +2 +Q 680 19.0 39.0(36 41 3NV +1 v5 -430 7.0 51.0|55 30 3NO+1 *7 -430 9.0 49.0
55 30 44 N+2 v4 680 19.0 39.0|46 13 3NV +1 v6 -430 7.0 51.0|58 6 3NV+1 48 -430 9.0 49.0
56 19 44 N+2 +Q 680 19.0 39.0|52 23 3NV +1 v6 -430 7.0 51.0|36 41 4v O +1 oK -450 4.0 54.0
58 6 44 N+2 vK 680 19.0 39.0|62 60 3NV +1 46 -430 7.0 51.0|52 23 4NO+1 a2 -460 2.0 56.0
59 42 44 N+2 +Q 680 19.0 39.043 18 3NV +2 49 -460 0.0 58.0(43 18 2v S-5 +6 -500 0.0 58.0
17 - 24.8 17 - 24.8 17 - 24.8
16 462 17  DKn85 18 475
Vast v K92 Nord vKn4 Ost v K107
ov 4654 Ingen ¢ DKn84 NS ¢ D97
#KD1085 #Kn53 #K9743
 Kn98 « K105 4K973 - «KD843 «102
vD4 v 108653 v 106 v D872 vD983  vKn64
¢ K7 ¢ EKn8 ¢ 10963 ¢ K752 ¢+ K + 10652
#E96432 #Kn7 K96  #ED1084 «DKn5 #E1086
4 ED743 « E10642 » EKn96
v EKn7 v EK953 vE52
¢ D10932 ¢E ¢ EKn843
*- *72 *2
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
31 48 24DV -3 46 800 55.0 3.0|50 27 44DS= v6 590 58.0 0.0(|20 59 3NS= a2 600 58.0 0.0
44 8 2#DV -3 a7 800 55.0 3.0|45 52 44 N+1 +5 450 55.0 3.0|45 52 24DV-3 *7 500 56.0 2.0
45 47 2#DV -3 46 800 55.0 3.0|47 12 44 S+1 vT 450 55,0 3.0|26 51 24 V-3 *7 150 53.0 5.0
55 30 24DV -3 46 800 55,0 3.0| 5 25 44 S= vT 420 38.0 20.0|39 53 INS+2 «K 150 53.0 5.0
51 33 24DV -2 K 500 50.0 8.0|13 16 44 S= vT 420 38.0 20.0|34 40 3¢ S+1 «K 130 48.0 10.0
57 32 3#V-4 46 400 48.0 10.0|20 59 44 N= +3 420 38.0 20.0|47 12 3¢ S+1 K 130 48.0 10.0
24 34 2vyDO-1 +3 200 46.0 12.0|21 33 44 S= +6 420 38.0 20.0|48 46 3¢ S+1 *2 130 48.0 10.0
3 35 2NN +2 ] 180 44.0 14.0|23 56 44 N= A 420 38.0 20.0| 4 14 INN+1 ¢K 120 44.0 14.0
27 25 24 S+2 48 170 38.0 20.0|24 1 44 N= A 420 38.0 20.0| 6 37 2¢ S+1 4K 110 35.0 23.0
37 15 24 S+2 48 170 38.0 20.0|26 51 44 N= A 420 38.0 20.0|10 3 2¢ S+1 «K 110 35.0 23.0
46 13 34 S+1 vQ 170 38.0 20.0|36 18 44 S= 3 420 38.0 20.0|17 62 3¢ S= *J 110 35.0 23.0
56 19 24 S+2 49 170 38.0 20.0|38 15 44 N= ¢5 420 38.0 20.0|21 33 2¢ S+1 K 110 35.0 23.0
59 42 24 S+2 vQ 170 38.0 20.0|41 11 44 N= A 420 38.0 200|124 1 3¢ S= «K 110 35.0 23.0
5 2 24 S+43 *7 150 32.0 26.0|42 31 44 N= v6 420 38.0 20.0|41 11 3¢ S= «K 110 35.0 23.0
10 20 24 S+1 va 140 28.0 30.0|48 46 44 N= v7 420 38.0 20.0|55 35 2¢ S+1 K 110 35.0 23.0
14 26 24 N+1 a7 140 28.0 30.0|57 7 44 N= 5 420 38.0 20.0|57 7 2¢ S+1 «K 110 35.0 23.0
28 4 24 S+1 vQ 140 28.0 30.0|58 19 44 N= +5 420 38.0 20.0|36 18 14 V-2 *7 100 24.0 34.0
36 41 3¢ S+1 vQ 130 22.0 36.0(60 32 44 S= *6 420 38.0 20.0|42 31 24DV-1 3 100 24.0 34.0
43 18 3¢ S+1 vQ 130 22.0 36.0|34 40 34 N+2 +5 200 21.0 37.0(44 29 2v V-2 *7 100 24.0 34.0
62 60 3¢ S+1 vQ 130 22.0 36.0|54 8 34 S+2 v3 200 21.0 37.0| 9 22 2¢ S= *Q 90 17.0 41.0
9 40 2NN = v5 120 18.0 40.0| 6 37 34 S+1 *6 170 17.0 41.0|23 56 2¢ S= *Q 90 17.0 41.0
7 21 3¢ S= vQ 110 9.0 49.0(17 62 34 N+1 v8 170 17.0 41.0|49 28 INS= *Q 90 17.0 41.0
11 29 24 S= A 110 9.0 49.0(43 2 24 N+1 v7 140 14.0 44.0|54 8 2¢ S= v8 90 17.0 41.0
12 49 2¢ S+1 vQ 110 9.0 49.0( 4 14 4e N-1 *T -50 7.0 51.0|13 16 1la V-1 *7 50 10.0 48.0
16 1 24 S-= vQ 110 9.0 490 9 22 44 S-1 vT 50 7.0 51.0|43 2 1la V-1 *7 50 10.0 48.0
52 23 24 S= vQ 110 9.0 49.0({10 3 44 S-1 vT 50 7.0 51.0|60 32 1a V-1 3 50 10.0 48.0
53 50 24 S= A 110 9.0 49.0(39 53 44 N-1 *A -50 7.0 51.0(58 19 1a V= *7 -80 6.0 52.0
54 38 2¢ N+1 «A 110 9.0 49.0(44 29 44 S-1 *6 -50 7.0 51.0|38 15 2NS-1 v7 -100 3.0 55.0
58 6 24 S= 48 110 9.0 49.0(55 35 44 N-1 +5 -50 7.0 51.0|50 27 3¢ S-1 +Q -100 3.0 55.0
39 22 24 S-1 *A -50 0.0 58.0(49 28 2¢ S-2 vT -100 0.0 58.0| 5 25 3¢ S-2 v8 -200 0.0 58.0
17 - 24.8 30 - 25.5 30 - 25.5
19 » 963 20 » EK72 21 «Kn3
Syd v Kn43 Vast v 65 Nord vKD108532
oV + K108 Alla 4109872 NS ¢ KKn6
#EKn103 &EK D
a74 & Kn1052 « DKn864 410953 ~E8 « D1097
vKD76 v 95 v Kn2 v K94 vE6 vKn74
¢ ED7543 496 ¢ Kn5 + ED64 ¢ED103 852
»D #98762 #9762 #53 #Kn9743 #E105
« EKD8 @- » K6542
vE1082 vED10873 v9
¢ Kn2 ¢+ K3 +974
+K54 #DKn1084 *K862
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
38 15 2¢yDO-5 A 1400 580 0.0| 4 14 64DN= ¢J 1540 58.0 0.0| 3 40 5#DO-3 v9 500 58.0 0.0
41 11 2¢DV-2 +8 500 550 3.0|13 16 6v S= #6 1430 56.0 20|59 31 4#V-3 vK 150 56.0 2.0
43 2 2¢DV-2 A 500 55,0 3.0|38 15 6# N= ¢J 1370 540 4.0|23 7 3vN= A 140 53.0 5.0
9 22 3NN+2 +5 460 47.0 11.0| 6 37 3NN+4 vK 720 520 6.0|44 26 3v N= v3 140 53.0 5.0
13 16 3NN +2 9 460 47.0 11.0| 9 22 3NS+3 *7 690 49.0 9.0|24 42 2v N= 2 110 50.0 8.0
34 40 3NS+2 +5 460 47.0 11.0|57 7 3NN+3 *6 690 49.0 90| 6 33 24 O-2 v9 100 47.0 11.0
48 46 3N S +2 +5 460 47.0 11.0|17 62 4v S+2 v2 680 37.0 21.0|34 49 44 V-2 s] 100 47.0 11.0
55 35 3NS+2 +3 460 47.0 11.0]20 59 4v N+2 a4 680 37.0 21.0| 2 48 3NV-1 vK 50 40.0 18.0
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60 32 3N S +2 a7 460 47.0 11.0 (21 33 4v S+2 «Q 680 37.0 21.0( 9 58 3NV-1 vK 50 40.0 18.0
4 14 3NN+1 +9 430 24.0 34.0|23 56 5v S+1 a4 680 37.0 21.0(19 51 34 0-1 v9 50 40.0 18.0
525 3NS+1 +3 430 24.0 34.0|41 11 4v S+2 a4 680 37.0 21.0|22 38 44 V-1 v3 50 40.0 18.0
6 37 3NN+1 +8 430 24.0 34.0|42 31 4v S+2 *9 680 37.0 21.0(32 56 3# O-1 v9 50 40.0 18.0
10 3 3NN+1 +9 430 24.0 34.0|49 28 4v S+2 4Q 680 37.0 21.0| 5 54 2v N-1 2 -100 29.0 29.0
20 59 3NS+1 +9 430 24.0 34.0|50 27 4v S+2 46 680 37.0 21.0|11 15 3v N-1 *A -100 29.0 29.0
21 33 3NS+1 +4 430 24.0 34.0|54 8 5v N+1 *8 680 37.0 21.0(28 62 3v N-1 »5 -100 29.0 29.0
23 56 3N S +1 *4 430 24.0 34.0|55 35 4v N +2 45 680 37.0 21.0(35 17 3v N-1 2 -100 29.0 29.0
26 51 3NS+1 +5 430 24.0 34.0|24 1 3NN+2 v4 660 22.0 36.0|45 8 3v N-1 2 -100 29.0 29.0
42 31 3NN+1 +9 430 24.0 34.0|34 40 3NN +2 43 660 22.0 36.0|46 50 3v N-1 +5 -100 29.0 29.0
44 29 3NS+1 +3 430 24.0 34.0|36 18 3NN +2 43 660 22.0 36.0|25 53 4a V= ] -130 22.0 36.0
45 52 3NN +1 +9 430 24.0 34.0|43 2 3NN+2 a5 660 22.0 36.0| 1 27 2v N-2 +5 -200 15.0 43.0
47 12 3NN +1 +3 430 24.0 34.0|45 52 3NN +2 a5 660 22.0 36.0|12 43 3v N-2 49 -200 15.0 43.0
49 28 3NS+1 *4 430 240 34.0| 5 25 4v S+1 +J 650 12.0 46.0|14 21 3v N-2 49 -200 15.0 43.0
50 27 3NS+1 +5 430 24.0 34.0|26 51 4v S+1 »6 650 12.0 46.0 |41 57 3v N-2 49 -200 15.0 43.0
54 8 3NN+1 +9 430 24.0 34.0|39 53 4v S+1 +J 650 12.0 46.0|55 29 3v N-2 »5 -200 15.0 43.0
57 7 3NN+1 +9 430 24.0 34.0|47 12 5v S= +J 650 12.0 46.0|60 36 3vyDN-1 49 -200 15.0 43.0
58 19 3NS+1 +3 430 24.0 34.0|58 19 4v S+1 +J 650 12.0 46.0|13 4 3v N-3 2 -300 7.0 51.0
17 62 4v S= Ly 420 6.0 52010 3 3NN+1 v4 630 6.0 52.0|18 20 2¢ N-3 *7 -300 7.0 51.0
39 53 3NN= +9 400 40 54.0|44 29 3NN= v4 600 4.0 54.0|47 30 3NV= vK -400 4.0 54.0
24 1 2¢DV-1 A 200 2.0 56.0(48 46 6v N-1 ¢ A -100 1.0 57.0|37 10 34DV = vK -470 2.0 56.0
36 18 5v S-1 *A -50 0.0 58.0|60 32 3NN-1 aT -100 1.0 57.0|16 39 44DO+1 ¥9 -610 0.0 58.0
30 - 25.5 30 - 25.5 52 - 26.6
22 49 23 « D987 24 #7532
Ost v K963 Syd v D974 Vast v KKn10975
oV + D109632 Alla + 86 Ingen + D7
»86 #KKn3 *6
41074 4632 a4 & Kn653 # 984 « KD10
vKn754 D102 vE1063 vKn82 vE v D642
¢ EK85 ¢ Kn74 + D52 + EKKn10 ¢ EK953 ¢ 1084
«D7 #K1094 #E9754 £102 #K1087 #D32
« EKDKn85 « EK102 « EKn6
vE8 v K5 v 83
.- 49743 ¢ Kn62
#EKn532 £D86 #EKNn954
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
3 40 54 S= ¢A 450 510 7.0| 5 54 24DS= 2 670 570 1.0| 9 58 2¢DN= oK 470 52.0 6.0
18 20 44 S+1 ¢A 450 510 7.0({60 36 24DS= vA 670 570 1.0(13 4 2vyDN= oK 470 52.0 6.0
19 51 44 S+1 a4 450 51.0 7.0|55 29 24 S+1 2 140 540 4.0|18 20 2vDN= aK 470 52.0 6.0
23 7 44 S+1 v4 450 51.0 7.0| 3 40 24 S= «A 110 41.0 17.0(22 38 2¢vDN= oK 470 52.0 6.0
32 56 44 S+1 ¢A 450 510 7.0 6 33 24 N= ¢A 110 41.0 17.0(35 17 2¢vyDN= oK 470 52.0 6.0
35 17 44 S+1 ¢K 450 51.0 7.0|16 39 24 N= ¢A 110 41.0 17.0|37 10 2vDN= aK 470 52.0 6.0
37 10 44 S+1 v5 450 510 7.0|18 20 24 S= Ly 110 41.0 17.0(47 30 2¢vDN= oK 470 52.0 6.0
44 26 54 S= v5 450 510 7.0(23 7 24 S= *4 110 410 17.0(28 62 54DV -2 *6 300 44.0 14.0
2 48 3NN+1 *T 430 40.0 18.0|25 53 24 S= A 110 41.0 17.0|44 26 5¢ V-3 vK 150 42.0 16.0
14 21 3NS+1 v5 430 40.0 18.0(28 62 24 S= v3 110 41.0 17.0(24 42 3 V-2 3 100 40.0 18.0
22 38 3NN+1 *9 430 40.0 18.0(32 56 24 S= 2 110 410 17.0( 1 27 3¢ V-1 vT 50 37.0 21.0
5 54 44 N= ¢A 420 26.0 32.0|35 17 24 S= A 110 410 17.0| 554 3NO-1 v3 50 37.0 21.0
6 33 44 S= ¢A 420 26.0 32.0|37 10 24 N= +K 110 41.0 17.0(55 29 3v N-1 s K -50 34.0 24.0
9 58 44 S= v5 420 26.0 32.0|44 26 14 S+1 «A 110 41.0 17.0 (41 57 2& V= a7 -90 32.0 26.0
11 15 44 S= ¢A 420 26.0 32.0|46 50 14 S+1 +3 110 41.0 17.0|11 15 3vyDN-1 *2 -100 29.0 29.0
13 4 44 S= ¢A 420 26.0 32.0|19 51 3&V-1 48 100 28.0 30.0|32 56 3vyDN-1 &K -100 29.0 29.0
24 42 44 S= ¢A 420 26.0 32.0|14 21 INS= *4 90 250 33.0| 2 48 3¢ V= *6 -110 18.0 40.0
28 62 44 S= a7 420 26.0 32.0|34 49 INS= *4 90 25.0 33.0| 6 33 3¢ V= *6 -110 18.0 40.0
46 50 44 S= ¢K 420 26.0 32.0|11 15 14 S= Ly 80 22.0 36.0|12 43 2¢ V+1 »6 -110 18.0 40.0
47 30 44 S= ¢A 420 26.0 32.0|13 4 Pass 20.0 38.0|19 51 3¢ O= *7 -110 18.0 40.0
59 31 44 S= ¢A 420 26.0 32.0| 1 27 24 S-1 *A -100 12.0 46.0|25 53 3¢ V= *6 -110 18.0 40.0
60 36 44 S= ¢A 420 26.0 32.0| 2 48 34 S-1 2 -100 12.0 46.0|34 49 3¢ V= *4 -110 18.0 40.0
55 29 64 S-1 *A -50 14.0 44.0|12 43 INS-1 *4 -100 12.0 46.0|45 8 2¢ V+1 *7 -110 18.0 40.0
12 43 64 S-2 ¢ A -100 8.0 50.0({24 42 34 S-1 2 -100 12.0 46.0|59 31 24 O= v8 -110 18.0 40.0
16 39 6# S-2 *A -100 8.0 50.0|41 57 24 N-1 &T -100 12.0 46.0|60 36 2¢ V+1 »6 -110 18.0 40.0
25 53 64 S-2 *A -100 8.0 50.0|47 30 24 S-1 *A -100 12.0 46.0| 3 40 3NO= v8 -400 6.0 52.0
34 49 64 S-2 ¢ A -100 8.0 50.0(59 31 24 S-1 2 -100 12.0 46.0|14 21 3NO= v8 -400 6.0 52.0
41 57 5# S-2 *A -100 8.0 50.0|22 38 2#V+1 +5 -110 4.0 540|123 7 3NO= 3 -400 6.0 52.0
1 27 64 S-3 + K -150 2.0 56.0| 9 58 24DS-1 Ly -200 1.0 57.0|16 39 3NO+1 *4 -430 2.0 56.0
45 8 6#S-6 +K -300 0.0 58.0{45 8 INS-2 *5 -200 1.0 57.0|46 50 2#DS-3 ¢ A -500 0.0 58.0
52 - 26.6 52 - 26.6 52 - 26.6
25 « EKn8 26 « DKn74 27 « D1096
Nord vE104 Ost vE Syd v 8742
ov +96 Alla ¢ Kn62 Ingen *7
#D10653 #109763 #KKn106
49654 &KD 462 & EK93 & Kn 4 87432
vKn76  vK932 vK72 v Kn9643 vKD53 v Kn6
¢E7 + KKn83 ¢ EK974 ¢ 105 ¢ EKn984 ¢ K1053
#EKNn84 #K72 #EKNn2 484 *E93 #52
10732 #1085 # EK5
v D85 vD1085 vE109
¢ D10542 + D83 + D62
&9 #KD5 D874
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
14 46 3ND O -2 *9 500 580 00| 7 45 4v O-2 +«K 200 520 6.0(15 56 2&#DV -3 49 500 58.0 0.0
17 30 3NO-3 *8 300 540 40| 8 32 4vDO-1 K 200 520 6.0|17 30 INDS+2 ¢9 380 56.0 2.0
22 40 3NO-3 a2 300 54.0 4.0(14 46 4v V-2 &T 200 520 6.0 7 45 3#S+1 vK 130 540 4.0
59 1 2¢v0-3 *9 300 540 4.0(22 40 3NV-2 *9 200 520 6.0(10 58 2v¥ N= a2 110 48.0 10.0
5 51 3NO-2 43 200 45.0 13.0(34 44 4y O-2 K 200 520 6.0|16 23 2# N+1 v] 110 48.0 10.0
6 2 3NO-2 43 200 45.0 13.0 (42 57 4v O-2 «K 200 520 6.0(19 50 2y N= *2 110 48.0 10.0
21 27 3NO-2 2 200 45.0 13.0 (62 55 4v V-2 *9 200 52.0 6.0(42 57 24 N= a2 110 48.0 10.0
47 60 3NO-2 *9 200 450 13.0| 3 33 4v V-1 3 100 39.0 19.0|49 52 2v N= a2 110 48.0 10.0
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54 39 3NO-2 +3 200 450 130 6 2 4vO-1 K 100 39.0 19.0(14 46 INS= +5 90 42.0 16.0
62 55 3N O -2 a7 200 45.0 13.0| 9 28 4v O-1 &K 100 39.0 19.0|24 41 24 S-1 N -50 37.0 21.0
7 45 3NO-1 2 100 29.0 29.0|20 31 3NV-1 a2 100 39.0 19.0|37 29 24 N-1 vJ -50 37.0 21.0
8 32 3NV-1 &5 100 29.0 29.0|24 41 3NV-1 &T 100 39.0 19.0|43 11 INS-1 ¢+4 -50 37.0 21.0
15 56 3NO-1 2 100 29.0 29.0|37 29 3NV-1 *2 100 39.0 19.0|62 55 2N S-1 *4 -50 37.0 21.0
16 23 3NO-1 2 100 29.0 29.0(54 39 2v O= *K -110 32.0 26.0| 9 28 34 N-2 +5 -100 31.0 27.0
20 31 3NO-1 2 100 29.0 29.0| 551 3vO= *K -140 23.0 35.0(13 18 2v N-2 +5 -100 31.0 27.0
24 41 3NO-1 *9 100 29.0 29.0|10 58 2v O +1 *K -140 23.0 35.0(34 44 3¢ V= *6 -110 28.0 30.0
34 44 3NO-1 *4 100 29.0 29.0(12 36 2v O+1 *K -140 23.0 35.0| 3 33 2¢ O+2 *A -130 22.0 36.0
42 57 3NO-1 &9 100 29.0 29.0|16 23 2v O +1 *K -140 23.0 350| 6 2 3¢ O+1 & A -130 22.0 36.0
48 53 3NO-1 *4 100 29.0 29.0|17 30 2v O +1 *K -140 23.0 35.0|20 31 3¢ V+1 49 -130 22.0 36.0
49 52 3NO-1 +5 100 29.0 29.0(19 50 2v O+1 *K -140 23.0 35.0(|22 40 2¢ V+2 49 -130 22.0 36.0
37 29 1a N= +8 80 18.0 40.0|25 4 2v O+1 45 -140 23.0 35.0({26 38 3¢ V+1 *T -130 22.0 36.0
333 2v0O= *9 -110 16.0 42.0|59 1 2v O+1 *K -140 23.0 350| 5 51 44 N-3 +3 -150 14.0 44.0
9 28 2NO= *4 -120 13.0 45.0|15 56 2v O +2 45 -170 10.0 48.0|12 36 2¢ V+3 »6 -150 14.0 44.0
10 58 2NO = +4 -120 13.0 45.0|26 38 2v O +2 *5 -170 10.0 48.0|47 60 2¢ V+3 *7 -150 14.0 44.0
13 18 24DN-3 4K -500 10.0 48.043 11 2v O+2 *K -170 10.0 48.0|59 1 2¢DO+1 2 -280 10.0 48.0
19 50 3NO = *2 -600 6.0 52.0|47 60 2v O +2 *K -170 10.0 48.0|21 27 3¢DV= A A -470 8.0 50.0
25 4 3NO= +5 -600 6.0 52.0|49 52 2v O +2 v5 -170 10.0 48.0| 8 32 4¢DV= +3 -510 6.0 52.0
43 11 3NO= +5 -600 6.0 52.0|13 18 4v O= *K -620 3.0 55.0|25 4 3¢DO+1 &K -570 2.0 56.0
12 36 3NO +1 2 -630 2.0 56.0|21 27 4v V= vA -620 3.0 55.0(48 53 3¢DV+1 T -570 2.0 56.0
26 38 2#4RDV = ¢9 -760 0.0 58.0(48 53 2¢vRDO+1 #K -1240 0.0 58.0|54 39 3¢DO+1 v4 -570 2.0 56.0
35 - 26.2 35 - 26.2 35 - 26.2
28 #93 29 & KKn1097 30  KD97
Vést vED6 Nord v73 Ost vE105
NS 410843 Alla ¢+ D1084 Ingen ¢+ E8
#D754 *K2 #K986
4 KKn106 4E82 # 862 «E54 a4 « E65
vK1053 v Kn9872 vD5 v Kn108642 vKKn9732 v D64
¢E2 ¢- ¢ Kn6 +95 ¢ K52 +10974
#EK2 #Kn10863 #ED9875 #104 *Kn42 #ES53
« D754 «D3 « Kn10832
v4 v EK9 v8
¢ KDKn9765 ¢ EK732 ¢ DKn63
&9 #Kn63 «D107
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
54 39 3¢DN= A 670 58.0 0.0|31 24 3NS+3 vQ 690 580 00| 1 8 44DS+1 v3 690 57.0 1.0
9 28 6vDV-2 +3 300 56.0 2.0| 4 53 3NN+2 vJ 660 50.0 8.0|60 40 44aDN+1 ¢3 690 57.0 1.0
25 4 6y V-2 *4 100 540 40| 6 48 3NS+2 LX) 660 50.0 80|38 7 44DS= v2 590 540 4.0
14 46 4v V-1 ¢*4 50 520 6.0|21 39 3NS+2 vQ 660 50.0 8.0|10 30 44 N+1 4 450 42.0 16.0
43 11 4e¢DS-1 *A -200 50.0 8.0|29 54 3NS+2 vQ 660 50.0 8.0|15 55 44 S+1 v3 450 42.0 16.0
551 4v O= ¢+ K -420 36.0 22.0|38 7 3NS+2 vQ 660 50.0 8.0|18 57 44 N+1 v4 450 42.0 16.0
8 32 4v O = *9 -420 36.0 22.0|52 17 3NS+2 &7 660 50.0 80|19 2 44 S+1 v3 450 42.0 16.0
10 58 4v V= +4 -420 36.0 22.0|60 40 3NN +2 vlJ 660 50.0 8.0|22 28 44 S+1 vJ 450 42.0 16.0
13 18 4v O = ¢+ K -420 36.0 22.0|10 30 44 N+1 a4 650 39.0 19.0|33 37 44 S+1 v5 450 42.0 16.0
19 50 4v O = *9 -420 36.0 22.0|34 11 44 S+1 *J 650 39.0 19.0|34 11 44 S+1 v3 450 42.0 16.0
20 31 4v O= *9 -420 36.0 22.0|36 45 44 N+1 *T 650 39.0 19.0|36 45 44 S+1 v3 450 42.0 16.0
26 38 4v O = *7 -420 36.0 22.0|47 35 44 S+1 vQ 650 39.0 19.0|41 25 44 S+1 v3 450 42.0 16.0
34 44 4y O= +K -420 36.0 22.0|15 55 3NS= 3 600 27.0 31.0|47 35 44 N+1 v4 450 42.0 16.0
42 57 4y O= *9 -420 36.0 22.0|16 26 3NS= *7 600 27.0 31.0|51 9 44 S+1 v3 450 42.0 16.0
47 60 4y O= *9 -420 36.0 22.0|18 57 3NS= *9 600 27.0 31.0|21 39 44 S= v3 420 26.0 32.0
48 53 4y O = *9 -420 36.0 22.0|22 28 5¢ N= &T 600 27.0 31.0|31 24 44 S= v3 420 26.0 32.0
49 52 4y O= *9 -420 36.0 22.0|41 25 5¢ N= +9 600 27.0 31.0|46 32 44 S= v3 420 26.0 32.0
59 1 4v 0= 49 -420 36.0 22.0|46 32 3NS= *9 600 27.0 31.0|49 56 4« S= v3 420 26.0 32.0
3 33 4v O +1 43 -450 15.0 43.0|50 23 3NS= &7 600 27.0 31.0|50 23 44 S= v3 420 26.0 32.0
6 2 4v V+1 49 -450 15.0 43.0|58 62 5¢ N= *7 600 27.0 31.0|20 27 4vDV-2 «K 300 20.0 38.0
12 36 4v V+1 49 -450 15.0 43.0|20 27 24 N+3 »2 200 16.0 42.0|58 62 34 N+2 +9 200 18.0 40.0
15 56 4v V+1 49 -450 15.0 43.0(44 5 24 N+3 vJ 200 16.0 42.0| 4 53 34 N+1 v2 170 13.0 45.0
21 27 49 O+1 +K -450 15.0 43.0|59 3 24 N+3 +9 200 16.0 42.0| 6 48 34 N+1 v3 170 13.0 45.0
24 41 4y V+1 &5 -450 15.0 43.0|49 56 2¢ S+3 v8 150 12.0 46.0|16 26 34 N+1 *7 170 13.0 45.0
37 29 4v V+1 49 -450 15.0 43.0| 1 8 3NS-1 »8 -100 10.0 48.0|29 54 34 N+1 vQ 170 13.0 45.0
62 55 4v O +1 *9 -450 15.0 43.0|19 2 2v V= *K -110 8.0 50.0(13 42 44 S-1 v9 -50 4.0 54.0
7 45 5¢DS-2 *K -500 5.0 53.0|13 42 3NS-2 *9 -200 3.0 55.0(43 14 44 S-1 v3 -50 4.0 54.0
16 23 5¢DS-2 *A -500 5.0 53.0|33 37 3NS-2 3 -200 3.0 55.0(44 5 44 S-1 v3 -50 4.0 54.0
17 30 4vDO= +K -590 1.0 57.0|43 14 3NS-2 *7 -200 3.0 55.0|52 17 44 S-1 2 -50 4.0 54.0
22 40 4vDO= *9 590 1.0 57.0|51 9 3NN-2 &T -200 3.0 55.0|59 3 44 S-1 v9 -50 4.0 54.0
35 - 26.2 12 - 28.8 12 - 28.8
31 « EK109 32 «E 33 » EK8642
Syd v6 Vast vE76 Nord v5
NS + DKn963 oV ¢ EKn87532 Ingen + D96
#KKn4 »E2 #EK10
4 DKn6 48752 4Knl1094 &KD876 4D753 &Kn9
vKn10973 v EK42 v Kn5 v K10983 v9832 vEK106
¢ EK ¢52 + K96 ¢- ¢105 #Kn43
#ED8 #1075 #DKn106 #984 #Kn86 #9732
43 532 10
v D85 v D42 vDKn74
¢10874 ¢+ D104 ¢ EK872
#9632 #K753 «D54
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
49 56 2¢DN+1 ¢5 380 58.0 0.0|58 62 6¢ N= «Q 920 58.0 0.0|14 31 6¢ S= v3 920 48.0 10.0
4 53 49 O0-2 4A 100 46.0 12.0|34 11 4¢DN+1 &K 610 56.0 2.0|15 60 6¢ S= v3 920 48.0 10.0
6 48 4v V-2 «A 100 46.0 12.0|31 24 3NN+3 *2 490 53.0 5.0|16 11 6¢ S= *T 920 48.0 10.0
20 27 49 O-2 «A 100 46.0 12.0|43 14 3N S+3 «Q 490 530 50|21 8 6¢ S= v3 920 48.0 10.0
21 39 4y V-2 ¢+Q 100 46.0 12.0|22 28 3NN +2 4K 460 48.0 10.0|24 59 6¢ S= v3 920 48.0 10.0
29 54 4y V-2 «A 100 46.0 12.0|41 25 3NN +2 «K 460 48.0 10.0|28 51 6¢ S= v3 920 48.0 10.0
31 24 4y V-2 «A 100 46.0 12.0|47 35 3NN +2 K 460 48.0 10.0|30 52 6¢ S= v3 920 48.0 10.0
36 45 4y V-2 4A 100 46.0 12.0|36 45 5¢ N+2 45 440 440 14.0)|34 62 6¢ S= +5 920 48.0 10.0
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38 7 4v V-2 +Q 100 46.0 12.0| 4 53 5¢ N+1 aK 420 38.0 20.0|35 56 6¢ S= *6 920 48.0 10.0
43 14 4y V-2 «A 100 46.0 12.0|16 26 5¢ N+1 aK 420 38.0 20.0|43 7 6¢ S= *T 920 48.0 10.0
46 32 4v V-2 ¢+Q 100 46.0 12.0|33 37 5¢ S+1 N 420 38.0 20.0|44 32 6¢ S= *6 920 48.0 10.0
47 35 4v O -2 a4 100 46.0 12.0|46 32 5¢ N+1 «K 420 38.0 20.0| 4 20 3NN +2 v3 460 29.0 29.0
10 30 INV-1 +6 50 26.0 32.0|60 40 5¢ N+1 aK 420 38.0 20.0| 5 38 3NS+2 v9 460 29.0 29.0
13 42 4v V-1 aA 50 26.0 32.0| 6 48 5¢ N= «K 400 27.0 31.0(12 17 3NS+2 v9 460 29.0 29.0
16 26 4v V-1 & A 50 26.0 32.0|15 55 5¢ N= 4K 400 27.0 31.0(22 54 3NN+2 v5 460 29.0 29.0
19 2 4v V-1 LYN 50 26.0 32.0|18 57 5¢ N= 4K 400 27.0 31.0(23 19 3NS+2 *6 460 29.0 29.0
22 28 4y V-1 aA 50 26.0 32.0(19 2 5¢ N= «K 400 27.0 31.0(37 9 4NS+1 v9 460 29.0 29.0
33 37 4v V-1 & A 50 26.0 32.0|51 9 5¢ N= K 400 27.0 31.0(46 40 3NS+2 v2 460 29.0 29.0
34 11 4v V-1 4 A 50 26.0 32.0|52 17 5¢ N= 4K 400 27.0 31.0(50 13 3NS+2 v9 460 29.0 29.0
50 23 3v V-1 +Q 50 26.0 32.0|59 3 INV-3 *7 300 20.0 38.0(36 29 3NN+1 *5 430 20.0 38.0
58 62 3v V-1 +K 50 26.0 32.0| 1 8 3¢ N+3 «K 170 14.0 44.0| 3 39 44 N= vA 420 12.0 46.0
18 57 INV= +Q -90 14.0 44.0(29 54 4¢ N+2 4K 170 14.0 44.0|18 42 44 N= vA 420 12.0 46.0
41 25 INV = +Q -90 14.0 44.0(38 7 4¢ N+2 aK 170 140 440|141 2 44 N= vA 420 12.0 46.0
59 3 INV= +Q 90 14.0 44.0|44 5 3¢ N+3 «K 170 14.0 44.0|45 55 44 N= vA 420 12.0 46.0
15 55 2v V= +Q -110 8.0 50.0 {49 56 4 N+2 4K 170 14.0 44.0|53 27 44 N= vK 420 12.0 46.0
51 9 2y V= ¢+ Q -110 8.0 50.0{10 30 3¢ N+2 aK 150 6.0 52.0(57 6 44 N= vA 420 12.0 46.0
60 40 2v V= & A -110 8.0 50.0(21 39 4¢ N+1 «K 150 6.0 52.0(58 49 44 N= vA 420 12.0 46.0
44 5 INV+1 49 -120 4.0 54.0|50 23 4¢ N+1 K 150 6.0 520 1 33 54 N-1 YA -50 4.0 54.0
52 17 3y V= aA -140 2.0 56.0|20 27 3NN-1 4Q -50 2.0 56.0(25 48 64 N-2 vA -100 1.0 57.0
1 8 4v V= LY -420 0.0 58.0|13 42 34DV= ¢ A -730 0.0 58.0|47 26 6¢ S-2 *6 -100 1.0 57.0
12 - 28.8 12 - 28.8 10 - 27.5
34 « D943 35 « D832 36 & 842
Ost vKn732 Syd v EKn5 Vast v K85
NS ¢+ D2 oV +84 Alla ¢ D532
£862 #8432 +D84
«Knl0 & K765 4 KKn975 #4104 4 K9753 & EKn6
v 109 v EKD8 vK8 v 976432 vKn962 v10743
¢10753 ¢ KKn6 ¢ 632 ¢ 107 ¢ EK10 #Kn98
#K10975 #EKn #EK5 #1076 &E #K32
~E82 ~E6 D10
v 654 vD10 vED
+ E984 ¢ EKDKN95 ¢ 764
#D43 #DKn9 #Kn109765
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
28 51 3NO-2 v4 100 58.0 0.0(12 17 3NDN= oT 550 58.0 00| 4 20 4v0O-1 *4 100 51.0 7.0
12 17 3NO-1 +4 50 540 4.0|44 32 3NN+3 T 490 56.0 20|15 60 4v V-1 &4 100 51.0 7.0
37 9 3NO-1 +8 50 540 40| 538 3NS+2 A 460 48.0 10.0|16 11 4a V-1 a2 100 51.0 7.0
45 55 3NO-1 a2 50 54.0 4.0|22 54 3NS+2 45 460 48.0 10.0|22 54 4v V-1 +3 100 51.0 7.0
18 42 INO+1 +4 -120 50.0 8.0|25 48 3NN+2 T 460 48.0 10.0|28 51 4v V-1 +3 100 51.0 7.0
53 27 24 V+1 +Q -140 48.0 10.0|28 51 3NS+2 a7 460 48.0 10.0|36 29 4v V-1 +3 100 51.0 7.0
3 39 INO+2 v4 -150 44.0 14.0|46 40 3NS+2 A 460 48.0 10.0|50 13 4v V-1 *2 100 51.0 7.0
16 11 2NO+1 +4 -150 44.0 14.0|50 13 3NN+2 T 460 48.0 10.0|53 27 44 V-1 &4 100 51.0 7.0
23 19 INO+2 v4 -150 44.0 14.0|53 27 3NS+2 A 460 48.0 10.0|44 32 34 V= *4 -140 40.0 18.0
30 52 2N O +2 v6 -180 39.0 19.0|14 31 3NS+1 +6 430 26.0 32.0145 55 3v V= *4 -140 40.0 18.0
41 2 2N O +2 +8 -180 39.0 19.0|15 60 3NS+1 45 430 26.0 32.0|58 49 2v V+1 *4 -140 40.0 18.0
22 54 INO +4 +4 -210 36.0 22.0|16 11 3NN+1 T 430 26.0 32.0(14 31 34 V+1 a2 -170  31.0 27.0
4 20 3NV = *2 -400 27.0 31.0|21 8 3NS+1 a7 430 26.0 32.0(24 59 24 V+2 a2 -170  31.0 27.0
538 3NO= v4a -400 27.0 31.0|24 59 3NN+1 T 430 26.0 32.0(35 56 24 V+2 a2 -170  31.0 27.0
21 8 3NO= *4 -400 27.0 31.0|34 62 3NN+1 v5 430 26.0 32.0(37 9 2& V+2 a2 -170  31.0 27.0
35 56 3NO = +9 -400 27.0 31.0|35 56 3NN+1 T 430 26.0 32.0(43 7 2& V+2 a2 -170  31.0 27.0
43 7 3NO= +8 -400 27.0 31.0|36 29 3NS+1 A 430 26.0 32.0(57 6 24 V+2 a2 -170  31.0 27.0
44 32 3NO= *4 -400 27.0 31.0|37 9 3NN+1 T 430 26.0 32.0|30 52 1a V+4 a2 -200 23.0 35.0
50 13 3NO = ¢*4 -400 27.0 31.0(41 2 3NN+1 T 430 26.0 32.0(41 2 24 V+3 48 -200 23.0 35.0
58 49 3NO= +8 -400 27.0 31.0|(43 7 3NN+1 T 430 26.0 32.0| 3 39 4a V= +3 -620 12.0 46.0
133 3NO+1 *4 -430 12.0 46.0|45 55 3NS+1 a7 430 26.0 32.0| 5 38 44 V= a2 -620 12.0 46.0
14 31 3NO+1 v4 -430 12.0 46.0 |47 26 3NN+1 T 430 26.0 32.0(12 17 4v O= *J -620 12.0 46.0
24 59 3N O +1 v4a -430 12.0 46.0|57 6 3NN+1 T 430 26.0 32.0|18 42 44 V= a2 -620 12.0 46.0
25 48 3N O +1 v4 -430 12.0 46.0|58 49 3NN +1 T 430 26.0 32.0|21 8 4v V= +3 -620 12.0 46.0
34 62 3NO+1 +3 -430 12.0 46.0|30 52 INS+4 A 210 10.0 48.0|25 48 44 V= a2 -620 12.0 46.0
36 29 3NO+1 +8 -430 12.0 46.0| 1 33 2¢ S+3 A 150 6.0 52.0(34 62 44 V= a2 -620 12.0 46.0
57 6 3NO+1 *4 -430 12.0 46.0| 3 39 2¢ N+3 *9 150 6.0 52.0(46 40 44 V= a2 -620 12.0 46.0
15 60 3NO +2 v4 -460 2.0 56.0|18 42 3¢ S+2 A 150 6.0 52.0(47 26 4y V= *2 -620 12.0 46.0
46 40 3N O +2 +8 -460 2.0 56.0(23 19 3¢ S+1 A 130 20 56.0( 1 33 44 V+1 +3 -650 1.0 57.0
47 26 3N O +2 v2 -460 2.0 56.0| 4 20 3NN-2 45 -100 0.0 58.0|23 19 4v O +1 *] -650 1.0 57.0
10 - 27.5 10 - 27.5 10 - 27.5
37 D84 38 « EDKn104 39 497
Nord vD109 Ost v 83 Syd v K1087
NS ¢75 oV +9 Alla ¢ED74
#K9732 #EK1082 «D106
4E652 4K3 49 48762 4 EKD8632 410
vKKn2 v7654 v10754 vD9 v2 v EKn9654
¢ K108 ¢ Kn932 ¢ D532 ¢ EKKn864 463 ¢ 10982
#E54  #D106 #D965 #3 #432 #Kn5
& Kn1097 K53 & Kn54
vE83 v EKKn62 vD3
¢+ ED64 ¢ 107 ¢ KKn5
#Kn8 *Kn74 #EKO987
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
25 29 INV-3 &2 150 55.0 3.0|14 20 64 N= ¢K 980 550 3.0| 1 13 44DV-2 v8 500 58.0 0.0
36 9 2NV-3 +4 150 55,0 3.0|25 29 64 N= ¢A 980 550 30| 4 6 3«4DO-1 v8 200 49.0 9.0
47 62 24 V-3 *7 150 55,0 3.0|30 35 64 N= ¢A 980 55,0 3.0| 7 15 34DV-1 v8 200 49.0 9.0
59 22 3¢ O-3 &) 150 55.0 3.0|43 32 64 N= ¢A 980 55.0 3.0|10 17 34DV-1 *6 200 49.0 9.0
3 53 INN= *6 90 50.0 8.0|12 52 3NS+4 *6 520 50.0 8.0|31 18 34DV-1 v8 200 49.0 9.0
113 INV-1 &3 50 40.0 18.0|11 40 44 N+3 &3 510 48.0 10.0|36 9 34DV-1 *6 200 49.0 9.0
523 INO-1 &2 50 40.0 18.0| 3 53 5¢D0O-2 vA 500 46.0 12.0|39 50 34DV-1 v8 200 49.0 9.0
10 17 2NV-1 3 50 40.0 18.0| 1 13 5v S+1 49 480 39.0 19.0|43 32 34DV-1 *6 200 49.0 9.0
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12 52 INV-1 3 50 40.0 18.0 (28 16 44 N +2 ¢A 480 39.0 19.0 (47 62 34DV-1 49 200 49.0 9.0
31 18 INV-1 3 50 40.0 18.0 (31 18 44 N +2 ¢A 480 39.0 19.0 (58 55 4& S= s A 130 40.0 18.0
33 48 INV-1 *2 50 40.0 18.0 (33 48 44 N +2 ¢A 480 39.0 19.0|44 49 34 S= s A 110 38.0 20.0
34 37 INV-1 *2 50 40.0 18.0(36 9 44 N+2 ¢A 480 39.0 19.0(21 24 44 S-1 s A -100 32.0 26.0
42 27 1INV -1 *2 50 40.0 18.0 (42 27 44 N+2 +K 480 39.0 19.0(26 56 4# S-1 s A -100 32.0 26.0
57 8 INV-1 3 50 40.0 18.0 (21 24 44 N+1 ¢A 450 28.0 30.0|30 35 44 S-1 s A -100 32.0 26.0
4 6 INO= *2 -90 21.0 37.0|26 56 44 N+1 ¢A 450 28.0 30.0|34 37 44 S-1 LY -100 32.0 26.0
14 20 INV= *2 -90 21.0 37.0|51 46 4v S+1 49 450 28.0 30.0 |42 27 44 S-1 s K -100 32.0 26.0
21 24 INV= *2 90 21.0 37.0|54 60 44 N+1 ¢A 450 28.0 30.0|12 52 34 V= 8 -140 26.0 32.0
28 16 INV= *2 -90 21.0 37.0|59 22 44 N+1 ¢A 450 28.0 30.0| 5 23 54 S-2 s A -200 20.0 38.0
38 2 INV= *2 -90 21.0 37.0|39 50 44 N= ¢K 420 19.0 39.0|25 29 5& S -2 4Q -200 20.0 38.0
39 50 INV= *2 90 21.0 37.0(41 19 4v S= v4 420 19.0 39.0(|38 2 4¢ S-2 s A -200 20.0 38.0
44 49 1INV = 3 -90 21.0 37.0|47 62 4v S= 49 420 19.0 39.0|51 46 5# N-2 aT -200 20.0 38.0
51 46 INV= 3 -90 21.0 37.0|57 8 5&N+1 ¢K 420 19.0 39.0|57 8 5&S-2 s K -200 20.0 38.0
54 60 INO= *2 90 210 370| 4 6 4vy N-1 49 -50 11.0 47.0|11 40 3NS-3 s A -300 14.0 44.0
58 55 INV= *2 -90 21.0 37.0|34 37 64 N-1 *A -50 11.0 47.0| 3 53 3NS-4 s A -400 8.0 50.0
43 32 24 S-1 v2 -100 10.0 48.0|38 2 44 N-1 ¢A -50 11.0 47.0|14 20 3NS-4 s A -400 8.0 50.0
26 56 2v O = s -110 8.0 50.0|58 55 64 N-1 *A -50 11.0 47.0|28 16 3NS-4 +Q -400 8.0 50.0
7 15 1INV +1 3 -120 5.0 53.0| 5 23 3NN-2 *A -100 3.0 55.0|41 19 3NN-4 aT -400 8.0 50.0
41 19 2NV = *2 -120 5.0 53.0| 7 15 64 N-2 + K -100 3.0 55.0|54 60 3NS-4 s A -400 8.0 50.0
30 35 INV+2 *2 -150 2.0 56.0|10 17 64 N-2 ¢ A -100 3.0 55.0|59 22 54DS-2 LY -500 2.0 56.0
11 40 2# N-3 +3 -300 0.0 58.0|44 49 64 N-2 *A -100 3.0 55.0|33 48 3NDS-4 4K -1100 0.0 58.0
45 - 26.8 45 - 26.8 45 - 26.8
40 « EKn965 41 410943 42 « E62
Vast v E87653 Nord v KDKn5 Ost vDKn8
Ingen +D2 ov ¢+ E5 Alla + DKn86
»- #983 #E53
«D1087 &- 462 4~ KD8 a5 & Kn1087
vKn v 10942 v 106 vE9 v EK1097 v-
4985 +E763 ¢ KKn10987 ¢ D32 ¢ 5432 + E109
#108653 #E9742 *E75 #KDKn62 #Kn92 #KD10874
« K432 « EKn75 « KD943
vKD v 87432 v 65432
+ KKn104 ¢ 64 * K7
#KDKn £104 *6
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
14 20 64DV -5 +Q 1100 58.0 0.0|10 52 5ND O -4 v3 1100 58.0 0.0|45 17 34DS= vA 730 57.0 1.0
7 15 64 N= ¢A 980 55.0 3.0| 4 31 3NO-2 v2 200 47.0 11.0(54 25 34DS= vK 730 57.0 1.0
30 35 64 N= ¢A 980 55.0 3.0(23 38 3NO-2 v2 200 47.0 11.0|50 3 5#DO-2 +K 500 54.0 4.0
42 27 54 N+1 ¢A 480 520 6.0|129 9 3NO-2 v2 200 47.0 11.0(28 36 4#DO-1 + K 200 52.0 6.0
1 13 44 N+1 ¢A 450 450 13.0(39 2 3NO-2 v2 200 47.0 11.0(55 1 34 S= vA 140 50.0 8.0
12 52 54 N= A 450 45.0 13.0|42 53 3NO-2 v2 200 47.0 11.0|47 56 2# O= *2 -90 48.0 10.0
25 29 54 S= +9 450 45.0 13.0 (44 62 3NO-2 v3 200 47.0 11.0( 5 20 44 S-1 vA -100 44.0 14.0
44 49 54 S= vJ] 450 45.0 13.0(45 17 3NO-2 v4 200 47.0 11.0 (46 49 34 S-1 vA -100 44.0 14.0
51 46 54 N= ¢A 450 45.0 13.0|48 24 3NO-2 v3 200 47.0 11.0|51 30 44 S-1 vA -100 44.0 14.0
58 55 54 S= »8 450 450 13.0(55 1 3NO-2 v8 200 470 11.0( 7 58 34O = &K -110 37.0 21.0
3 53 64 N-1 ¢ A -50 29.0 29.0|60 16 3N O-2 v2 200 47.0 11.0|22 8 24 O+1 43 -110 37.0 21.0
4 6 64 N-1 +5 -50 29.0 29.0| 7 58 5¢ V-1 vK 100 30.0 28.0|23 38 3+ 0= v4 -110 37.0 21.0
11 40 64 S-1 vJ] -50 29.0 29.0|14 19 3NO-1 v4 100 30.0 28.0 (57 59 3# 0= + K -110 37.0 21.0
21 24 64 S-1 3 -50 29.0 29.0|18 6 3NV-1 v3 100 30.0 28.0 (44 62 3# 0O +1 *6 -130 31.0 27.0
26 56 64 S-1 +8 -50 29.0 29.0|21 41 3NO-1 v4 100 30.0 28.0|60 16 3# O +1 3 -130 31.0 27.0
28 16 64 S-1 3 -50 29.0 29.0|34 26 3NO-1 v2 100 30.0 280 4 31 340 +2 s K -150 24.0 34.0
31 18 64 S-1 +5 -50 29.0 29.0|54 25 3NO-1 v2 100 30.0 28.0(14 19 3# O +2 s K -150 24.0 34.0
39 50 64 S-1 vJ] -50 29.0 29.0|57 59 5¢ V-1 vK 100 30.0 280|139 2 34 0+2 s K -150 24.0 34.0
54 60 64 N-1 +3 -50 29.0 29.0|35 12 3v S-1 *A -50 22.0 36.0|40 32 3# O+2 v6 -150 24.0 34.0
59 22 64 S-1 vJ] -50 29.0 29.0|28 36 3¢ V+1 vK -130 20.0 38.0|42 53 3# O +2 s K -150 24.0 34.0
5 23 64 N-2 vT -100 11.0 47.0|33 27 2¢ O+3 +6 -150 18.0 40.0|21 41 44DS-1 vA -200 14.0 44.0
34 37 64 S-2 vJ] -100 11.0 47.0|13 15 3¢ O+3 a7 -170 16.0 42.0|29 9 34 N-2 *K -200 14.0 44.0
36 9 6NDS-1 vJ] -100 11.0 47.0|22 8 3NV= vQ -600 12.0 46.0|33 27 3vDS-1 *9 -200 14.0 44.0
38 2 64 N-2 vT -100 11.0 47.0(|46 49 3NO= a5 -600 12.0 46.0|35 12 44DS-1 vA -200 14.0 44.0
41 19 54 S-2 3 -100 11.0 47.0|47 56 3NO= 3 -600 12.0 46.0|48 24 34 S-2 vA -200 14.0 44.0
43 32 64 N-2 v4 -100 11.0 47.0|37 43 3N O +2 v8 -660 7.0 51.0|10 52 4v N-3 &K -300 8.0 50.0
47 62 74DS-1 *2 -100 11.0 47.0|51 30 3N O +2 a5 -660 7.0 51.0|34 26 54D O = &K -750 5.0 53.0
57 8 64 S-2 vJ] -100 11.0 47.0| 5 20 3NO+3 a7 -690 2.0 56.0|37 43 54DO = &K -750 5.0 53.0
33 48 74 S-3 vJ] -150 2.0 56.0|40 32 3N O +3 a5 -690 2.0 56.0{18 6 3¢DN-3 &K -800 2.0 56.0
10 17 64DS-2 vJ -:300 0.0 58.0|50 3 3NO+3 5 -690 2.0 56.0|13 15 3«DO+2 4K -1070 0.0 58.0
45 - 26.8 11 - 26.9 11 - 26.9
43 472 44 « Kn9 45 « Kn3
Syd v D872 Vast v 104 Nord v EK8753
Ingen +D2 NS ¢ K98532 Alla ¢ EKn72
#EKD73 #3865 &5
4 K986 4D104 « KD72 41065 & K982 « ED64
v EKn v K965 v EKn5 v D8632 v 1064 v Kn9
¢ EKN95 ¢ 74 ¢ 7 + Kn64 + 106 + D85
£984 #Kn1052 #Kn9742 &E3 #DKn102 #E984
# EKn53 « E843 #1075
v 1043 v K97 vD2
+ K10863 ¢+ ED10 ¢ K943
&6 #KD10 #K763
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
520 2¢v0-3 *6 150 56.0 2.0(14 19 3NDS= *2 750 58.0 0.0(20 36 4v N+1 vJ] 650 58.0 0.0
21 41 2v O-3 »6 150 56.0 2.0| 7 58 3NS+1 »2 630 55.0 3.0(35 52 4y N= v9 620 540 4.0
46 49 24 V-3 «A 150 56.0 2.0(42 53 3NS+1 *2 630 55.0 3.0(42 19 4y N= vJ] 620 540 4.0
29 9 24 N= ¢+ 4 90 51.0 7.0(33 27 3NN= «A 600 50.0 8.0(55 47 4y N= vJ] 620 54.0 4.0
51 30 2&# N= *7 90 51.0 7.0(35 12 3NS= oK 600 50.0 8.0| 3 37 3v N+2 »8 200 44.0 14.0
37 43 24 V-1 *A 50 45.0 13.0 (37 43 3NS= *2 600 50.0 8.0(21 57 34 V-2 vK 200 44.0 14.0
40 32 24 V-1 *A 50 45.0 13.0(21 41 4vDO-3 ¢+A 500 46.0 12.0 (31 53 3v N +2 v9 200 44,0 14.0
45 17 24 V-1 *K 50 45.0 13.0|13 15 INS+3 v5 180 42.0 16.0|41 9 2v N+3 *T 200 44.0 14.0
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48 24 2v O-1 *6 50 45.0 13.0|40 32 INS+3 *2 180 42.0 16.0|44 15 3v N+2 +5 200 44.0 14.0
4 31 2NN-1 +5 -50 34.0 24.0|48 24 INS+3 *2 180 42.0 16.0|48 5 34 V-2 vA 200 44.0 14.0
13 15 2 N-1 *7 -50 34.0 24.0|23 38 INS+2 3 150 38.0 20.0|56 30 3v N+2 aA 200 44.0 14.0
34 26 3¢ S-1 *9 -50 34.0 24.0|57 59 3¢ N+1 K 130 36.0 220| 4 2 3vy N+l vlJ 170 28.0 30.0
35 12 2# N-1 *7 -50 34.0 24.0|39 2 3¢ N= A 110 32.0 26.0|11 17 3v N+1 +4 170 28.0 30.0
42 53 2# N-1 *7 -50 34.0 24.0|44 62 2¢ N+1 A 110 32.0 26.0|12 10 2v N+2 +5 170 28.0 30.0
50 3 2#N-1 *7 -50 34.0 24.0|47 56 2¢ N+1 a5 110 32.0 26.0|13 45 3v N+1 46 170 28.0 30.0
54 25 2# N-1 *7 -50 34.0 240|50 3 3v O-2 K 100 27.0 31.0|23 33 3¢ N+3 +5 170 28.0 30.0
7 58 2# N-2 v6 -100 18.0 40.0|60 16 3v V-2 s 100 27.0 31.0|34 1 3v N+1 vJ 170 28.0 30.0
10 52 2# N-2 *7 -100 18.0 40.0({18 6 2v V-1 +8 50 21.0 37.0|39 27 3v N+1 «A 170 28.0 30.0
18 6 2# N-2 v6 -100 18.0 40.0|28 36 2v O-1 *K 50 21.0 37.0|54 46 2v N+2 aA 170 28.0 30.0
33 27 2# N-2 *4 -100 18.0 40.0|54 25 3v O-1 *A 50 21.0 37.0|60 28 3v N+1 aA 170 28.0 30.0
39 2 3¢ S-2 48 -100 18.0 40.0|55 1 3vO-1 ¢ A 50 21.0 37.0|24 38 3¢ N+2 46 150 18.0 40.0
44 62 3% N-2 T -100 18.0 40.0 |10 52 5¢ N-1 *A -100 16.0 42.0| 7 32 3¢ N+1 «A 130 14.0 44.0
47 56 2& N -2 *7 -100 18.0 40.0| 4 31 2vO= v7 -110 12.0 46.0|18 8 3¢ N+1 aA 130 14.0 44.0
55 1 3vS-2 48 -100 18.0 40.0|22 8 2vO= ¢ A -110 12.0 46.0(26 29 3¢ N+1 A 130 14.0 44.0
60 16 2vyDN-1 v5 -100 18.0 40.0|34 26 24 O = vT -110 12.0 46.0|22 50 2¢ N +1 «A 110 9.0 49.0
28 36 24 V= *A -110 8.0 50.0| 5 20 3v O= *A -140 6.0 52.0|62 49 2¢ N+1 aA 110 9.0 49.0
57 59 2& N - v6 -150 6.0 52.0(|45 17 2v O +1 *K -140 6.0 52.0| 6 14 24 V-1 vA 100 4.0 54.0
22 8 INDV= *K -180 4.0 54.0|51 30 2v O+1 *K -140 6.0 52.0(16 43 24 V-1 vA 100 4.0 54.0
23 38 3¢DS-2 vA -300 2.0 56.0|29 9 14 S-2 *7 200 2.0 56.0|59 25 34 V-1 vA 100 4.0 54.0
14 19 4vDN-3 +5 -500 0.0 58.0|46 49 3vDO= *K -530 0.0 58.0|40 58 4v N-2 v9 -200 0.0 58.0
1 - 26.9 1 - 26.9 51 - 26.8
46 a7 47 a4 48 452
Ost v DKn106 Syd v 987542 Vast v 8543
Ingen ¢ K954 NS ¢ 764 ov ¢ DKn
#DKn43 *E76 #107643
«Knl042 «EDG63 2 Kn9732 4 EKS85 2109763 4E
v E975 v 832 vE3 vKn vDKnl106 v EK9
¢ EKn + D10862 ¢ 853 + K109 ¢ 62 + K109854
£986 *K £932 #KDKn54 +D8 £952
» K985 « D106 « KDKn84
vK4 vKD106 v72
¢73 ¢ EDKn2 ¢E73
#E10752 #108 #EKKn
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
12 10 3¢ O-3 A 150 570 10|24 38 3vDS+1 42 930 58.0 0.0|11 17 24 V-2 ¢+Q 200 58.0 0.0
41 9 34 O-3 A 150 57.0 1.0|62 49 4vDS= a7 790 56.0 2.0|56 30 3# N+1 vK 130 56.0 2.0
16 43 1¢DN= 2 140 540 4.0|26 29 4v S+1 vA 650 540 40| 7 32 24 S= 6 110 45.0 13.0
6 14 34 O-2 vK 100 48.0 10.0|22 50 4v S= 5 620 520 6.0|12 10 3+ S= +6 110 45.0 13.0
21 57 34 O-2 A 100 48.0 10.0|20 36 44DV-2 +4 300 50.0 8.0|16 43 24 S= +6 110 45.0 13.0
31 53 34 O-2 A 100 48.0 10.0(18 8 3v S+1 a4 170 46.0 12.0(18 8 24 S= 6 110 45.0 13.0
39 27 44 O-2 A 100 48.0 10.0|41 9 2v S+2 43 170 46.0 12.0|21 57 24 S= +6 110 45.0 13.0
48 5 34 0-2 A 100 48.0 10.0|59 25 3v S+1 *2 170 46.0 12.0|24 38 2v N= «A 110 45.0 13.0
4 2 3aV-1 *4 50 38.0 20.0|31 53 2v N+1 aA 140 42.0 16.0 (40 58 24 S= 6 110 45.0 13.0
18 8 34 0-1 *7 50 38.0 20.0|23 33 44DV-1 v4 100 36.0 22.0|44 15 24 S= +6 110 45.0 13.0
34 1 340-1 *7 50 38.0 20.0|35 52 44 V-2 ¢+4 100 36.0 220|148 5 24 S= +6 110 45.0 13.0
40 58 24 O-1 *7 50 38.0 20.0(48 5 44DO-1 vK 100 36.0 22.0(59 25 24 S= +3 110 45.0 13.0
54 46 2+ O-1 *A 50 38.0 20.0|55 47 44 V-2 v9 100 36.0 22.0|13 45 2v V-1 a2 100 33.0 25.0
3 37 Pass 22.0 36.0|56 30 44 V-2 +4 100 36.0 22.0(22 50 3¢ O-1 aK 100 33.0 25.0
11 17 Pass 220 36.0| 4 2 44 0-1 v5 50 240 34.0| 3 37 24 S-1 6 -50 26.0 32.0
13 45 Pass 22.0 36.0| 6 14 44 V-1 v4 50 240 34.0| 6 14 24 S-1 +6 -50 26.0 32.0
24 38 Pass 22.0 36.0|13 45 44 V-1 v4 50 24.0 34.0|31 53 24 S-1 2 -50 26.0 32.0
26 29 Pass 22.0 36.0|21 57 34 V-1 *4 50 240 34.0|42 19 24 S-1 6 -50 26.0 32.0
42 19 Pass 22.0 36.0|40 58 44 V-1 v9 50 24.0 34.0|55 47 24 S-1 vQ -50 26.0 32.0
44 15 Pass 22.0 36.0|44 15 44 O-1 v9 50 24.0 34.0|20 36 2¢ O= +K -90 19.0 39.0
55 47 Pass 22.0 36.0|54 46 44 O-1 vK 50 240 34.0|39 27 2¢ O= *A -90 19.0 39.0
56 30 Pass 22.0 36.0| 3 37 24O +1 vK -110 16.0 42.0|60 28 24 S-2 +6 -100 15.0 43.0
59 25 Pass 220 36.0| 7 32 34 V= *4 -140 12.0 46.0|62 49 34 S-2 +6 -100 15.0 43.0
62 49 Pass 22.0 36.0|16 43 34 V= v7 -140 12.0 46.0| 4 2 2¢ O+1 oK -110 9.0 49.0
20 36 14 O+1 *7 110 9.0 49.0(34 1 34 V= *6 -140 12.0 46.0|26 29 2¢ O +1 *A -110 9.0 49.0
60 28 24 O= *7 -110 9.0 49.0|11 17 34 V+1 v9 -170 7.0 51.0|35 52 2¢ O +1 s K -110 9.0 49.0
7 32 340= *7 -140 4.0 54.0|39 27 34 V+1 v4 -170 7.0 51.0|54 46 2¢ O+1 *A -110 9.0 49.0
22 50 34 O= *7 -140 4.0 54.0|60 28 5vDS-1 *2 -200 4.0 54.0|23 33 2¢ O +2 *A -130 2.0 56.0
23 33 24 O+1 *7 -140 4.0 54.0|12 10 44DO= *A 590 1.0 57.0|34 1 2¢ O+2 +5 -130 2.0 56.0
35 52 24 O+2 »2 -170 0.0 58.0|42 19 44DV = v7 590 1.0 57.0|41 9 2¢ O+2 &K -130 2.0 56.0
51 - 26.8 51 - 26.8 51 - 26.8
49 « ED964 50 » K7642 51 « EKD5
Nord vD109 Ost vKn874 Syd v D8765
Ingen ¢+ ED92 NS ¢+ E974 ov +K
D »- #Kn98
aKKn2 4753 a-  Kn83 49763 482
v5 v KKn843 vKD102 v E65 vKKn94 v10
+Kn863 ¢ 105 ¢ K1053 ¢ DKn +D652 4973
#K7632 #EKn4 #EKN1085 #D7432 *3 #EKD10764
«108 « ED1095 «Knl04
vE762 v93 vE32
¢ K74 ¢ 862 ¢ EKn1084
#10985 *K96 &52
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
19 31 3vDO-6 T 1400 58.0 0.0|32 55 34DS= vK 730 58.0 0.0|32 55 44DV-7 +K 2000 58.0 0.0
51 17 44 N= 43 420 56.0 20(15 9 34 S= vK 140 55.0 3.0(25 16 3NV-2 A 200 56.0 2.0
41 1 3NS-= 3 400 540 4.0|51 17 34 S= vK 140 56,0 3.0| 3 27 3v N= *K 140 49.0 9.0
50 21 2¢v O-5 T 250 52.0 6.0|56 58 5#DO-1 «A 100 520 6.0| 7 29 3v N= A 140 49.0 9.0
42 6 24 N+4 *T 230 50.0 80|41 1 4#0= 46 -130 50.0 8.0|12 30 2v N+1 A 140 49.0 9.0
18 33 24 N+3 v3 200 42.0 16.0|12 30 44V +1 24 -150 44.0 14.0|18 33 2v N+1 A 140 49.0 9.0
20 53 2v O -4 49 200 42.0 16.0|48 23 44V +1 a2 -150 44.0 14.0|57 26 3v N= A 140 49.0 9.0
25 16 24 N+3 v3 200 42.0 16.0 (54 34 34 O +2 *7 -150 44.0 14.0|62 46 3v N= *K 140 49.0 9.0
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35 11 24 N+3 v3 200 42.0 16.0 (60 24 3&V +2 v7 -150 44.0 14.0|43 38 2¢ S+l *3 110 42.0 16.0
56 58 24 N +3 a7 200 42.0 16.0|62 46 44V +1 a4 -150 44.0 14.0| 5 59 4v N-1 *A -50 23.0 35.0
57 26 2v O-4 aT 200 420 16.0( 5 59 3#V+3 v6 -170 34.0 24.0| 8 4 4v N-1 &A -50 23.0 35.0
60 24 2v O -4 aT 200 42.0 16.0 (19 31 44 O +2 v9 -170 34.0 24.0|10 45 4v N-1 &K -50 23.0 35.0
3 27 24 N+2 v4 170 28.0 30.0|49 40 24 O +4 a2 -170 34.0 24.0|14 2 4v N-1 &K -50 23.0 35.0
5 59 2¢ N+4 *T 170 28.0 30.0|50 21 4V +2 a4 -170 34.0 24.0|15 9 3¢ S-1 3 -50 23.0 35.0
10 45 34 N+1 43 170 28.0 30.0|57 26 3#V +3 a2 -170 34.0 24.0|20 53 4v N-1 *A -50 23.0 35.0
15 9 24 N+2 45 170 28.0 30.0|10 45 54DN-1 *2 -200 27.0 31.0|22 37 4v N-1 *A -50 23.0 35.0
28 44 24 N +2 43 170 28.0 30.0|47 52 54 S-2 vK -200 27.0 31.0(28 44 4v N-1 *A -50 23.0 35.0
47 52 34 N+1 43 170 28.0 30.0| 3 27 54 0= v9 -400 18.0 40.0|35 11 4v N-1 *A -50 23.0 35.0
48 23 24 N+2 46 170 28.0 30.0|14 2 54V= a2 -400 18.0 40.0|39 36 4v N-1 *A -50 23.0 35.0
8 4 2NS+1 v5 150 18.0 40.0|20 53 54 O = a2 -400 18.0 40.0|41 1 4vy N-1 *A -50 23.0 35.0
14 2 2NS+1 *2 150 18.0 40.0|25 16 5&V = a2 -400 18.0 40.0|42 6 3¢ S-1 *5 -50 23.0 35.0
43 38 2¢ N+3 v3 150 18.0 40.0|28 44 5&V = v7 -400 18.0 40.0|47 52 4v N-1 *A -50 23.0 35.0
7 29 24 N+1 *4 140 12.0 46.0|42 6 54 V= v7 -400 18.0 40.0|48 23 4v S-1 3 -50 23.0 35.0
22 37 24 N+1 v3 140 12.0 46.0 |43 38 5& V= v7 -400 18.0 40.0|49 40 4v N-1 *A -50 23.0 35.0
49 40 24 N+1 *T 140 12.0 46.0| 7 29 5V +1 46 -420 9.0 49.0|50 21 4v N-1 *A -50 23.0 35.0
12 30 2NS= *2 120 6.0 520 8 4 5&V+1 a2 -420 9.0 49.0|56 58 4v N-1 *K -50 23.0 35.0
39 36 INS+1 3 120 6.0 52.0|39 36 5%V +2 v7 -440 6.0 52.0|60 24 4v N-1 *A -50 23.0 35.0
62 46 2NN = v3 120 6.0 52.0(18 33 54DV = 46 -550 3.0 55.0|19 31 4vDN-1 *A -100 2.0 56.0
54 34 3¢ N= v3 110 2.0 56.0|35 11 54DO= s A -550 3.0 55.0|51 17 INS-2 46 -100 2.0 56.0
32 55 3&V-2 «Q 100 0.0 58.0(|22 37 54DV +1 42 -650 0.0 58.0|54 34 4vDN-1 *A -100 2.0 56.0
13 - 25.2 13 - 25.2 13 - 25.2
52 «Kn10974 53 & KKn87 54 « DKn9872
Vast v E543 Nord v D109862 Ost v 9765
Alla + D8 NS + K ov +8
£107 +K8 »62
« E53 » 86 «E3 #1065 4 K3 » E654
vD102 vKn86 vE753 v- vEDKn832 vK4
¢ E9653 ¢ K10742 ¢ Kn1074 ¢ D8653 4 9652 +D3
#95 #KKn8 #ED9 #Kn7643 *D #KKn974
« KD2 « D942 «10
v K97 v KKn4 v10
¢+ Kn ¢ E92 ¢ EKKn1074
#ED6432 #1052 #E10853
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
18 33 44 S+1 v2 650 570 1.0(62 45 3vyDN+1 3 930 58.0 0.0(53 24 6vDV-4 «Q 1100 57.0 1.0
41 1 44 N+1 46 650 57.0 1.0(41 29 4v N+1 +3 650 56.0 2.0(58 52 6vyDV-4 9 1100 57.0 1.0
8 4 3¢V-2 *T 200 51.0 7.0|42 48 4v N= 2 620 530 50| 5 16 3NDO-3 ¢+A 800 540 4.0
10 45 34 N+2 2 200 51.0 7.0(44 38 4y N= +3 620 53.0 5.0(54 40 4vDO-2 +8 500 52.0 6.0
22 37 34 N+2 2 200 510 7.0(15 25 5¢DO-3 43 500 50.0 8.0(17 34 4vyRDV-1 +8 400 50.0 8.0
25 16 24 N+3 200 51.0 7.0|22 43 5¢DO-2 K 300 46.0 12.0 (42 48 4y V-3 +8 300 48.0 10.0
35 11 34 N+1 2 170 440 140(31 6 5¢DV-2 48 300 46.0 12.0(37 28 3vDV-1 +8 200 46.0 12.0
50 21 24 N+2 2 170 440 14.0(35 10 54DV -2 v6 300 46.0 120 1 26 4v O-1 +8 100 36.0 22.0
56 58 24 N +2 2 170 44.0 14.0|30 13 3v N+2 +3 200 42.0 16.0|14 33 5v V-1 +8 100 36.0 22.0
15 9 24 N+1 v8 140 40.0 18.0( 2 27 24 S+2 *T 170 32.0 26.0(15 25 4v V-1 +8 100 36.0 22.0
3 27 3#S+1 ¢A 130 33.0 25.0( 5 16 3v N+1 +6 170 32.0 26.0(20 50 4v O-1 +8 100 36.0 22.0
12 30 34+ S+1 »5 130 33.0 25.0|14 33 2v N+2 +3 170 320 26.0(31 6 4v V-1 +8 100 36.0 22.0
19 31 2# S+2 ¢A 130 33.0 25.0({19 8 24 S+2 *J 170 32.0 26.0(41 29 3v V-1 «Q 100 36.0 22.0
42 6 2#S+2 v2 130 33.0 25.0 (20 50 2v N +2 *7 170 32.0 26.0(51 11 4v V-1 +8 100 36.0 22.0
48 23 3# S+1 ¢A 130 33.0 25.0|51 11 24 S+2 +J 170 32.0 26.0 (55 49 4v V-1 +8 100 36.0 22.0
54 34 3 S+1 »5 130 33.0 25.0 (55 49 3v N+1 5 170 32.0 26.0 (56 46 3v V-1 +8 100 36.0 22.0
47 52 2NS= +3 120 25.0 33.0|57 60 2v N +2 +J 170 320 26.0| 7 12 44 S-3 *Q -150 26.0 32.0
60 24 2NS= +3 120 25.0 33.0|58 52 2v N+2 +3 170 32.0 26.0|22 43 3v V+2 +8 -200 24.0 34.0
559 2&S+1 v2 110 19.0 39.0| 7 12 2v N+1 3 140 21.0 37.0|39 59 44DS-3 s K -500 21.0 37.0
14 2 24 S+l v2 110 19.0 39.0|32 9 24 S+1 +4 140 21.0 37.0|57 60 5¢DS-3 *Q -500 21.0 37.0
20 53 3# N= ¢A 110 19.0 39.0| 3 18 4¢DO-1 a4 100 18.0 40.0|19 8 4vyDV= +8 -790 18.0 40.0
28 44 34 S= v6 110 19.0 39.0| 1 26 44 0-1 Ly 50 150 43.0| 3 18 6¢4DS-4 *Q -800 12.0 46.0
32 55 3¢ O-1 +J 100 10.0 48.0|56 46 4¢ O-1 Ly 50 15.0 43.0| 4 21 5¢DN-4 vK -800 12.0 46.0
39 36 3¢ O-1 &K 100 10.0 48.0| 4 21 44 N-1 *J -100 9.0 49032 9 54DS-4 vA -800 12.0 46.0
43 38 3¢ V-1 &T 100 10.0 48.0|36 23 34 S-1 +*J -100 9.0 49.0|44 38 54DS-4 s K -800 12.0 46.0
51 17 34 O-1 s K 100 10.0 48.0|39 59 34 S-1 vA -100 9.0 49.0|62 45 54#DN -4 LY -800 12.0 46.0
57 26 3¢ O-1 *J 100 10.0 48.0|54 40 44 N-1 +3 -100 9.0 49.0| 2 27 54DS-5 K -1100 3.0 55.0
7 29 3#S-1 *A -100 4.0 54.0|17 34 4¢ O= vK -130 3.0 55.0|30 13 5¢DS-5 K -1100 3.0 55.0
49 40 3NN-2 ¢+ 4 -200 1.0 57.0|37 28 4¢ V= v9 -130 3.0 55.0|35 10 5#DS-5 4K -1100 3.0 55.0
62 46 44 N-2 v6 -200 1.0 57.0|53 24 5vDN-1 3 200 0.0 58.0|36 23 5¢DS-5 «Q -1100 3.0 55.0
13 - 25.2 a7 - 28.2 a7 - 28.2
55 476 56 4987 57 4974
Syd v42 Vast vED Nord v EKn63
Alla ¢+ E1054 Ingen ¢ K982 ov ¢ Kn983
#KD654 #8732 &52
4532 &« EK109 4 D1054 & K63 4 KDKn1085 463
vKnl1075 vEDG63 vK1083 v972 v D94 v K8
+ K86 4972 +4 +D10763 +10 ¢ EKD752
#983 «107 #ED95 &#K4 #D63 #1097
« DKn84 #« EKn2 4 E2
v K98 v Kn654 v 10752
¢ DKn3 ¢ EKn5 ¢ 64
#EKn2 #Kn106 #EKKn84
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
55 49 34D S= 3 670 580 00| 3 18 2vV-3 3 150 58.0 0.0(11 30 3#V-2 *5 200 48.7 9.3
3 18 3NS+1 vJ] 630 46.0 120( 1 26 34 V-2 vA 100 540 4.0|13 35 44 V-2 »2 200 48.7 93
7 12 3NS+1 v6 630 46.0 12.0(20 50 INO-2 v5 100 54.0 4.0(19 48 44 V-2 »5 200 48.7 9.3
14 33 3NS+1 vJ] 630 46.0 12.0 (42 48 24 O-2 *] 100 54.0 4.0(23 41 44 V-2 *5 200 48.7 9.3
15 25 3NS+1 a2 630 46.0 12.0|41 29 INN= +3 90 50.0 8.0|28 24 44 V-2 »5 200 48.7 93
20 50 3NN +1 vJ] 630 46.0 12.0(22 43 INO-1 *] 50 41.0 17.0(37 20 44 O-2 «A 200 48.7 9.3
22 43 3NS+1 v2 630 46.0 12.0(31 6 INV-1 49 50 41.0 17.0 (44 39 44 O-2 «A 200 48.7 9.3
30 13 3NS+1 vJ] 630 46.0 12.0(36 23 INO-1 *] 50 41.0 17.0|49 45 44 V-2 »5 200 48.7 93
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42 48 3N S +1 v5 630 46.0 12.0(37 28 2¢v O-1 v5 50 41.0 17.0 (50 31 44 O-2 &K 200 48.7 9.3
44 38 3NS+1 vJ 630 46.0 12.0(39 59 2¢ O-1 *] 50 41.0 17.0|51 10 44 V-2 *5 200 48.7 9.3
53 24 3NS+1 v7 630 46.0 12.0(53 24 2v V-1 +8 50 410 17.0| 4 18 34 O-1 *5 100 29.0 29.0
62 45 3N S +1 vJ] 630 46.0 12.0(57 60 INO-1 *] 50 410 170 9 34 34 V-1 *2 100 29.0 29.0
4 21 3NN= v] 600 32.0 26.0(62 45 INV-1 2 50 41.0 17.0(15 43 34 O-1 *5 100 29.0 29.0
17 34 3NS= vJ] 600 32.0 26.0|17 34 Pass 320 26.0|27 8 3a4V-1 *2 100 29.0 29.0
54 40 3NS= v5 600 320 260 7 12 INS-1 »5 -50 30.0 28.0|42 2 34 V-1 »5 100 29.0 29.0
58 52 IND S +1 v] 380 28.0 30.0| 2 27 INO= *] -90 21.0 37.0|52 62 34 V-1 *5 100 29.0 29.0
57 60 2N S +3 43 210 26.0 32.0| 4 21 INO= v4 -90 210 37.0|53 21 34 V-1 *5 100 29.0 29.0
35 10 2v V-2 *K 200 24.0 34.0|14 33 INO= v5 -90 21.0 37.0|59 33 34 V-1 »5 100 29.0 29.0
1 26 INN+3 &T 180 17.0 41.0|15 25 INO= v5 -90 21.0 37.0|60 22 34 V-1 *5 100 29.0 29.0
2 27 INN+3 v3 180 17.0 41.0|32 9 INO= v4 90 210 370 3 14 24 V= *2 -110 10.4 47.6
31 6 2NS+2 vJ] 180 17.0 41.0|35 10 INV= 49 -90 21.0 37.0|29 38 24 V= »5 -110 10.4 47.6
32 9 INN+3 v3 180 17.0 41.0|44 38 INO= *] -90 210 37.0|36 6 24 V= *5 -110 10.4 47.6
39 59 2N S +2 vJ] 180 17.0 41.0|58 52 INO= s A -90 21.0 37.0(40 26 24 V= *5 -110 10.4 47.6
41 29 INN+3 sA 180 17.0 41.0|30 13 34 S-2 *4 -100 12.0 46.0|46 55 24 V= »5 -110 10.4 47.6
19 8 INS+2 vJ 150 9.0 49.0(19 8 14 O+1 *] -110 10.0 48.0|54 17 24 O= *5 -110 10.4 47.6
36 23 INN+2 2 150 9.0 49.0(51 11 INO+1 va -120 6.0 52.0|56 5 24 V= *5 -110 10.4 47.6
51 11 3&S+1 vJ] 130 5.0 53.0(54 40 INO+1 a7 -120 6.0 52.0|57 16 24 V= »5 -110 10.4 47.6
56 46 3& S +1 *5 130 5.0 53.0(56 46 1IN O +1 v6 -120 6.0 52.0|58 47 24 V= *5 -110 104 47.6
37 28 INS+1 v] 120 2.0 56.0(55 49 INO+2 *J -150 2.0 56.0| 1 12 24 V+1 *5 -140 0.0 58.0
516 INN= v6 90 0.0 58.0| 5 16 2¢DN-2 *K -300 0.0 580| 7 - 26.4
47 - 28.2 47 - 28.2 25 32 A+/A- 348 23.2
58 «D3 59 « Kn32 60 # 108754
Ost v EDKn543 Syd vKD7632 Vast v EDKn
Alla ¢ DKn Ingen ¢ 63 NS +D3
*K63 #93 *K87
& KKn94 & E762 4 K1097 4654 K63 « EDKn
v9872 10 v8 v K65 v 98432
¢ E10 + 865 ¢ EKn985 ¢ 1042 ¢ 10654 ¢ EKn9
#E98 #Kn10542 #Kn107542 #D93 #EKn
1085 « ED8 492
v K6 v Kn954 v 107
¢ K97432 + KD7 ¢ K872
D7 #E86 106542
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
56 5 1lv V-3 +Q 300 58.0 0.0|29 38 2¢vyDS+1 vA 570 58.0 0.0|15 43 3NO-3 49 150 58.0 0.0
28 24 34 O-2 vK 200 538 4.2(53 21 3NS= +9 400 549 31|11 30 3NO-2 49 100 518 6.2
52 62 1v N+4 &T 200 538 4.2(59 33 3NS= +9 400 549 31|19 48 3NO-2 49 100 51.8 6.2
59 33 1v N+4 +3 200 538 42| 9 34 3v S+1 *K 170 51.8 6.2|29 38 3NO-2 *2 100 51.8 6.2
314 3v N= *] 140 424 156 1 12 3v S= ¢+ 4 140 37.3 20.7 (54 17 3NO-2 49 100 518 6.2
4 18 2v N+1 *] 140 424 156| 4 18 3v N= *J 140 37.3 20.7|57 16 3NO-2 49 100 51.8 6.2
9 34 3v N= sA 140 424 15611 30 3v N= Ly 140 373 20.7| 4 18 4v O-1 49 50 37.3 20.7
11 30 2v N+1 *] 140 424 156 (13 35 2v N +1 *4 140 373 20.7| 9 34 4v0O-1 49 50 37.3 20.7
19 48 2v N+1 %] 140 42.4 15623 41 3v N= 46 140 37.3 20.7|13 35 4v O-1 a2 50 37.3 20.7
29 38 1v N+2 *2 140 424 15628 24 3y N= *J 140 37.3 20.7(28 24 3NO-1 49 50 37.3 20.7
37 20 3v N= *2 140 42.4 15.6 (40 26 3y N= 46 140 373 20.7(36 6 3NO-1 *4 50 37.3 20.7
49 45 2v N+1 *] 140 424 15642 2 3v S= *K 140 37.3 20.7|49 45 3NO-1 49 50 37.3 20.7
36 6 3¢ S+1 49 130 33.1 249 (44 39 2v N+1 *J 140 37.3 20.7 (50 31 3NO-1 a2 50 37.3 20.7
57 16 1v N+1 *] 110 30.0 28.0 (50 31 3v N= 2 140 37.3 20.7 (51 10 4v O-1 49 50 37.3 20.7
60 22 2v N= *J 110 30.0 28.0|52 62 3v N= a5 140 37.3 20.7|52 62 4y O-1 49 50 37.3 20.7
50 31 24 V-1 +Q 100 269 31.1|54 17 3v N= *K 140 37.3 20.7 (40 26 INO= 49 -90 259 321
42 2 3¢ S-1 49 -100 21.8 36.2|57 16 3v N= 3 140 37.3 20.7 (58 47 INO= 49 -90 259 321
44 39 3v N-1 *J -100 21.8 36.2|37 20 4v N-1 2 -50 20.7 373| 112 2v O= 49 -110 22.8 35.2
51 10 4v N-1 *2 -100 21.8 36.2|46 55 4v N-1 *J -50 20.7 37.3|37 20 INO+1 49 -120 17.6 404
53 21 3¢ S-1 v9 -100 21.8 36.2|56 5 4v S-1 *K -50 20.7 37.3|42 2 INO+1 49 -120 17.6 404
112 14 V+1 vA -110 145 435| 3 14 4vDN-1 *4 -100 114 46.6|56 5 INO+1 49 -120 17.6 40.
27 8 24 0= vK -110 145 435|15 43 4vDN-1 *2 -100 11.4 46.6|59 33 INO+1 3 -120 17.6 404
46 55 3& V= ¢+ Q -110 145 435|19 48 4vDS-1 *K -100 114 46.6 |23 41 INO+2 *2 -150 7.3 50.7
13 35 34 O= vK -140 8.3 49.7|27 8 4vDS-1 *K -100 114 46.6 |27 8 INO+2 *4 -150 7.3 50.7
54 17 24 O +1 *Q -140 8.3 49.7|49 45 4vDN-1 Ly -100 11.4 46.6 |44 39 INO +2 *4 -150 7.3 50.7
58 47 24 O +1 vK -140 8.3 49.7|51 10 4vDN-1 2 -100 11.4 46.6 |46 55 1IN O +2 *2 -150 7.3 50.7
15 43 24 O +2 +4 -170 3.1 549|36 6 2¢ N-3 »5 -150 3.1 54.9|53 21 INO +2 *2 -150 7.3 50.7
40 26 24 V+2 -170 3.1 54.9|60 22 2¢ N-3 v8 -150 3.1 54.9|60 22 INO +2 »5 -150 7.3 50.7
23 41 34 S-2 49 -200 0.0 58.0|58 47 44DO= v5 -510 0.0 58.0| 3 14 3NO= 49 -400 0.0 58.0
7 - 26.4 7 - 26.4 7 - 26.4
25 32 A+/A- 348 23225 32 A+/A- 348 23.2|25 32 A+/A- 348 23.2
61 «E8 62 « Kn8 63 « DKn54
Nord vE74 Ost v KDKn9 Syd vE7
Alla + K876 Ingen ¢ Kn62 NS ¢ 64
#9643 #8743 #Kn10765
4 KD10754 #Kn963 4 K1072 4E95 4 EK986 &7
v K92 v 83 v 86 vD5 v 963
.- + ED10532 + KD7543 ¢ 109 ¢ EK7 ¢ 109532
#EKD10 *Kn #EKKN652 &#KD2 #E843
LY « D643 #1032
v DKn1065 v 105432 v KKn10842
¢ Kn94 ¢+ E8 + DKn8
#8752 «D10 &9
Kontr Ut Res Poang Par Ut Res Poang Par  Kontr Ut Res Poang
2 20 64aDV-1 aA 200 56.0 2.0(25 40 44 V-3 vK 150 570 1.0(42 8 44DV-2 vA 300 58.0 0.0
38 57 64DV-1 vA 200 56.0 2.0|38 57 3NO-3 a4 150 57.0 1.0|37 44 44 V-5 *J 250 56.0 2.0
62 56 64DV-1 aA 200 56.0 20| 2 20 3NO-2 v2 100 450 13.0(16 9 24 V-3 vA 150 52.0 6.0
29 5 64 V-1 «A 100 510 7.0(| 7 10 3NO-2 vK 100 450 13.0(21 3 24 V-3 vA 150 52.0 6.0
43 34 64 V-1 «A 100 51.0 7.0|19 6 6¢ V-2 vK 100 45.0 13.0|24 46 24 V-3 »5 150 52.0 6.0
32 12 24 V+3 vA -200 48.0 10.0 |31 27 44 O-2 v2 100 45.0 13.0( 7 10 44 V-2 vA 100 39.0 19.0
48 41 24 V +4 *4 -230 46.0 12.0|33 28 3NV-2 vK 100 45.0 13.0(19 6 44 V-2 vA 100 39.0 19.0
14 18 44 O= vQ -620 40.0 18.0(39 60 3NV-2 vK 100 45.0 13.0|22 15 34 O-2 ] 100 39.0 19.0
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26 55 4a V= v3 -620 40.0 18.0|42 8 3NV-2 vK 100 45.0 13.0|25 40 34 V-2 vA 100 39.0 19.0
31 27 44 O= vQ -620 40.0 18.0|45 30 3NV-2 vK 100 45.0 13.0|26 55 3NV -2 vA 100 39.0 19.0
39 60 44 O= vQ -620 40.0 18.0|51 35 3NO-2 v3 100 45.0 13.0|29 5 3NV-2 &5 100 39.0 19.0
42 8 44 O= vQ -620 40.0 18.0(58 11 3NV-2 vQ 100 45.0 13.0|45 30 5¢DO-1 &9 100 39.0 19.0
51 35 3NV +1 3 -630 34.0 24.0| 1 49 3NO-1 v3 50 32.0 26.0|47 17 3NO-2 vlJ 100 39.0 19.0
7 10 44 V+1 vA -650 25.0 33.0|37 44 54 O-1 v2 50 32.0 26.0|48 41 34 V-2 vA 100 39.0 19.0
13 52 44 V+1 vA -650 25.0 33.0|53 36 3NV-1 vK 50 32.0 26.0|50 59 4e V-2 vA 100 39.0 19.0
24 46 44 V+1 vA -650 25.0 33.0|13 52 3#O= a7 -110 27.0 31.0| 1 49 4a V-1 YA 50 19.0 39.0
25 40 54 V= & A -650 25.0 33.0(16 9 3#0-= v2 -110 27.0 31.0| 2 20 24 V-1 vA 50 19.0 39.0
37 44 4a V+1 vA -650 25.0 33.0(48 41 3+ O+1 v2 -130 24.0 34.0|14 18 5¢ O-1 vK 50 19.0 39.0
45 30 4e V+1 vA -650 25.0 33.0(|24 46 34 O= v2 -140 22.0 36.0|31 27 5¢ O-1 vT 50 19.0 39.0
47 17 4e V+1 vA -650 25.0 33.0(|47 17 34 O+1 v2 -170 20.0 38.0(32 12 34 V-1 vA 50 19.0 39.0
58 11 44 V+1 *4 -650 25.0 33.0|29 5 24 V+3 vK -200 18.0 40.0|33 28 34 V-1 YA 50 19.0 39.0
1 49 54 V+1 *7 -680 9.0 49.0|32 12 5¢ V= vK -400 14.0 44.0|39 60 34 V-1 vA 50 19.0 39.0
16 9 44 V+2 *4 -680 9.0 49.0|50 59 5¢ V= vK -400 14.0 44.0|43 34 2NV-1 vA 50 19.0 39.0
19 6 54 V+1 & A -680 9.0 49.0|62 56 5¢ V= vQ -400 14.0 44.0|53 36 34 V-1 vA 50 19.0 39.0
21 3 4a V+2 *4 -680 9.0 49.0|21 3 44 O-= v2 -420 7.0 51.0|58 11 5¢ O-1 a2 50 19.0 39.0
23 4 4a V+2 *4 -680 9.0 49.0|22 15 44 V= vQ -420 7.0 51.0|38 57 24 V= vA -110 8.0 50.0
33 28 44 V+2 & A -680 9.0 49.0(|23 4 4e V= vK -420 7.0 51.0|51 35 3NV= *6 -400 5.0 53.0
50 59 4a V+2 *6 -680 9.0 49.0|26 55 44 V= vK -420 7.0 51.0|62 56 3NV = *6 -400 5.0 53.0
53 36 44 V+2 *7 -680 9.0 49.0|14 18 3NO+3 a4 -490 1.0 57.0|23 4 2vDN- a7 -500 2.0 56.0
22 15 64DV = &5 -1660 0.0 58.0|43 34 3NO+3 a4 -490 1.0 57.0|13 52 4¢DO= vT -510 0.0 58.0
54 - 26.6 54 - 26.6 54 - 26.6
64 » K654 65 46 66 &« Kn94
Vast vK10 Nord v76 Ost v75
ov 2 Ingen ¢ K974 NS ¢ EKn8
#Kn107652 #EKD1097 #EKD106
« ED32 «1087 « KDKn1053 «E972 4EK75 462
v Kn3 v D654 v Kn3 v EKD1085 vE9863 v KKn2
¢ EKKn1094 ¢ D753 ¢ ED5 +10 ¢ D743 ¢ K965
&E *84 *Kn6 #83 *- #Kn853
«Kn9 484 «D1083
vE9872 v 942 vD104
+ 86 ¢ Kn8632 ¢ 102
#KD93 #542 #9742
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
26 55 44DV -2 vK 500 58.0 0.0| 8 31 64 V-1 &K 50 570 1.0(23 9 3NO-2 3 100 57.0 1.0
42 8 3NO-3 &K 300 550 3.0|23 9 6e V-1 LYN 50 57.0 10|60 46 4v V-2 A 100 57.0 1.0
50 59 3NV-3 3 300 55,0 3.0| 1 40 54 V= *A -450 30.0 28.0(32 17 4v V-1 *A 50 54.0 4.0
149 3NO-1 &K 100 440 140| 2 28 54 V= SA -450 30.0 28.0| 1 40 3v V= SA -140 50.0 8.0
7 10 5¢ O-1 K 100 440 14.0| 3 20 44 V+1 *A -450 30.0 28.0(42 4 2v V+1 *A -140 50.0 8.0
14 18 5¢ O-1 &K 100 440 14.0|11 56 44 V+1 *A -450 30.0 28.0|43 5 3v V= *A -140 50.0 8.0
31 27 5¢ V-1 &7 100 44.0 14.0|15 53 44 V+1 *K -450 30.0 28.0| 3 20 2v V+2 *A -170  39.0 19.0
33 28 5¢ O-1 &K 100 44.0 14.0|19 59 54 V= &K -450 30.0 28.0|18 37 2v V+2 *A -170  39.0 19.0
43 34 4¢ V-1 vK 100 44.0 14.0|27 36 44 V+1 *K -450 30.0 28.0|19 59 2v O +2 *A -170  39.0 19.0
47 17 5¢ V-1 vK 100 44.0 14.0|30 34 44 V+1 *A -450 30.0 28.0|33 25 3v V+1 *A -170  39.0 19.0
53 36 5¢ O-1 &K 100 44.0 14.0|32 17 44 V+1 *A -450 30.0 28.0(39 29 3v V+1 *A -170  39.0 19.0
62 56 5¢ V-1 *6 100 44.0 14.0|33 25 44 V+1 *A -450 30.0 28.0(48 21 2v V+2 *A -170  39.0 19.0
25 40 54D S -1 ¢ A -100 33.0 25.0|38 16 44 V+1 *K -450 30.0 28.0(49 7 3v V+1 *A -170  39.0 19.0
51 35 3v S-2 ¢ A -100 33.0 25.0|29 39 4v O+1 *2 -450 30.0 28.0|55 12 3v V+1 *A -170  39.0 19.0
23 4 2¢ O+1 *K -110 30.0 28.0|41 14 44 V+1 *A -450 30.0 28.0| 8 31 4v V= *A -420 18.0 40.0
2 20 4¢ V= vK -130 19.0 39.0(42 4 44 V+1 *K -450 30.0 28.0(13 10 4y V= SA -420 18.0 40.0
13 52 3¢ O+1 *K -130 19.0 39.0|43 5 44 V+1 *A -450 30.0 28.0|15 53 4y V= &K -420 18.0 40.0
16 9 3¢ V+1 vK -130 19.0 39.0 |44 57 44 V+1 *A -450 30.0 28.0|26 22 4y V= *A -420 18.0 40.0
19 6 4¢ V= vK -130 19.0 39.0|45 35 44 V+1 *K -450 30.0 28.0(27 36 4y V= &K -420 18.0 40.0
22 15 3¢ V+1 vK -130 19.0 39.0|47 24 44 V+1 *A -450 30.0 28.0|30 34 4v V= *A -420 18.0 40.0
37 44 4e V= vK -130 19.0 39.0|48 21 44 V+1 *A -450 30.0 28.0|38 16 4v V= *K -420 18.0 40.0
39 60 2¢ O+2 *K -130 19.0 39.0|49 7 4e V+1 *A -450 30.0 28.041 14 4y V= SA -420 18.0 40.0
45 30 3¢ V+1 vK -130 19.0 39.0|50 6 44 V+1 *K -450 30.0 28.0(45 35 4y V= &K -420 18.0 40.0
48 41 1e V+3 *] -130 19.0 39.0|54 52 44 V+1 *A -450 30.0 28.047 24 4y V= *A -420 18.0 40.0
58 11 3¢ O+1 L) -130 19.0 39.0|55 12 44 V+1 *A -450 30.0 28.0|50 6 4y V= &K -420 18.0 40.0
32 12 14 O +2 a4 -140 8.0 50.0 |60 46 44 V+1 *A -450 30.0 28.0|54 52 4y V= *A -420 18.0 40.0
38 57 64D S -2 +K -300 6.0 52.0|62 51 44 V+1 *K -450 30.0 28.0|62 51 4v V= *K -420 18.0 40.0
24 46 3NO= vK -600 3.0 55.0(13 10 44 V+2 *A -480 4.0 54.0| 2 28 3#DN-2 vK -500 3.0 55.0
29 5 3NO= v2 -600 3.0 55.0(26 22 4y O+3 48 -510 2.0 56.0 |44 57 44DN-2 v2 -500 3.0 55.0
21 3 4eDV= vK -710 0.0 58.0|18 37 6¢DN-4 vA -800 0.0 58.0|11 56 4#DN-3 vK -800 0.0 58.0
54 - 26.6 58 - 255 58 - 255
67 a4 68 » EK8 69 4753
Syd vE876 Vast vKn74 Nord v EK8764
oV ¢ K10752 Alla + Kn865 NS ¢+ K2
«D54 *874 *K8
#1032 « EDKn9876 « D97 462 D 4 £109864
vKn5432 vD9 vK10632 v985 vD1092  vKn53
¢E4 + DKn8 ¢ED 742 ¢Knl04  o-
*ET72 *9 #Kn96 #D10532 #EDKN52 #9743
K5  Kn10543 & KKn2
v K10 vED v-
4963 ¢ K1093 ¢ ED987653
#KKn10863 #EK #106
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 10 64D O-3 T 800 58.0 0.0|48 21 3NS+2 v2 660 580 00| 555 4¢DS+1 «Q 910 57.0 1.0
1 40 54D O -2 «T 500 56.0 20| 1 40 44 S+1 *6 650 53.0 50|41 53 4¢DS+1 «Q 910 57.0 1.0
2 28 54 O-2 T 200 53.0 5.0|38 16 44 S+1 v2 650 53.0 50| 9 33 5¢DS= «Q 750 53.0 5.0
15 53 54 O -2 T 200 530 5.0|50 6 44 S+1 v2 650 53.0 5.0|39 26 5¢DS= «Q 750 53.0 5.0
320 44 0-1 +3 100 40.0 18.0|62 51 44 S+1 v2 650 53.0 50|60 1 3NS+3 &5 690 50.0 8.0
11 56 44 O-1 &4 100 40.0 18.0|26 22 3NS+1 *6 630 46.0 120| 4 2 3NN+2 ] 660 40.0 18.0
18 37 44 O-1 T 100 40.0 18.032 17 3NN+1 v9 630 46.0 12.0|13 35 3NS+2 «Q 660 40.0 18.0
27 36 44 V-1 +6 100 40.0 18.0|45 35 3NN +1 v9 630 46.0 12.0]|19 14 3NS+2 «Q 660 40.0 18.0
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32 17 44 O-1 &T 100 40.0 18.0| 2 28 44 S= »6 620 36.0 22.0|24 44 3NS+2 «Q 660 40.0 18.0
39 29 44 O-1 &T 100 40.0 18.0| 3 20 44 S= »6 620 36.0 22.0|25 36 3NS+2 ] 660 40.0 18.0
41 14 44 O-1 *6 100 40.0 18.0| 8 31 44 S= »6 620 36.0 22.0 (37 28 3NS+2 L) 660 40.0 18.0
45 35 44 O-1 +3 100 40.0 18.0|19 59 44 S= »6 620 36.0 22.0|38 43 3NS+2 «Q 660 40.0 18.0
50 6 44 O-1 +6 100 40.0 18.0|42 4 44 S= *6 620 36.0 22.0|51 58 3N S +2 L)) 660 40.0 18.0
54 52 44 O-1 vK 100 40.0 18.0|49 7 44 S= v3 620 36.0 22.0 (59 48 3NS+2 «Q 660 40.0 18.0
60 46 44 O-1 »6 100 40.0 18.0|54 52 44 S= v2 620 36.0 22.0|18 20 5¢ S= «Q 600 29.0 29.0
26 22 44 S-1 ¢ A -50 27.0 31.0|18 37 3NN= v5 600 25.0 33.0|32 62 5¢ N= «Q 600 29.0 29.0
48 21 44 N-1 s A -50 27.0 31.0|30 34 3NS= v2 600 25.0 33.0|21 57 44DO-2 ¢A 300 26.0 32.0
8 31 54S-2 a2 -100 22.0 36.0|(43 5 3NS= v2 600 25.0 33.0(|34 11 4¢ S+1 «Q 150 23.0 35.0
30 34 4¢DN-1 oA -100 22.0 36.0|44 57 3NS= v2 600 25.0 33.0(|46 49 3¢ S+2 45 150 23.0 35.0
62 51 4¢ N-2 s A -100 22.0 36.0{23 9 INS+4 v3 210 19.0 39.0 |42 31 2v N+1 &4 140 20.0 38.0
49 7 34 0= &T -140 17.0 41.0|39 29 INS+4 v6 210 19.0 39.0| 7 47 5¢ S-1 +Q -100 13.0 45.0
55 12 34 O= +9 -140 17.0 41.0|41 14 14 S+4 *6 200 15.0 43.0|15 22 5¢ S-1 +Q -100 13.0 45.0
19 59 54D S-2 a2 -300 9.0 49.0|60 46 24 S+3 vQ 200 15.0 43.0|29 12 5¢ S-1 4Q -100 13.0 45.0
33 25 44D S-2 ¢ A -300 9.0 49.0|55 12 24 S+2 »6 170 12.0 46.0|30 17 5¢ S-1 +Q -100 13.0 45.0
38 16 54D S -2 a2 -300 9.0 49.0|11 56 34 N= v5 140 9.0 49.0(54 10 5¢ S-1 +Q -100 13.0 45.0
42 4 54DS -2 ¢A -300 9.0 49.0(47 24 24 N+1 va 140 9.0 49.0(56 16 5¢ S-1 4Q -100 13.0 45.0
43 5 54DS-2 ¢ A -300 9.0 49.0|15 53 44 S-1 »6 -100 5.0 53.0| 3 50 6¢ S-2 +Q -200 4.0 54.0
44 57 4#DS -2 a2 -300 9.0 49.0|33 25 3NS-1 *6 -100 5.0 53.0| 6 8 5¢DS-1 +Q -200 4.0 54.0
23 9 44 O= vK -620 2.0 56.0({13 10 3NN-2 v5 -200 1.0 57.0|{45 52 6¢ S-2 4Q -200 4.0 54.0
47 24 44DO= +6 -790 0.0 58.0|27 36 3NS-2 v3 -200 1.0 57.0|27 23 5¢DS-2 4Q -500 0.0 58.0
58 - 255 58 - 255 40 - 26.6
70 « EK874 71 4« Kn10854 72 4 Kn982
Ost v Kn96 Syd vKn Vast v K7
ov 41083 Alla 498543 Ingen ¢ 10973
&E4 #96 &K72
4Knl1065 D9 4 D732 4E6 4D1043 4765
vKD53 vE102 v1043 vED865 v 863 vDKn
¢DKn2 ¢ EK94 ¢106 ¢ EKn7 ¢ K52 + DKn864
#Kn6é #D1095 #8732 &Knl04 #EKn9 D103
432 4 K9 4 EK
v 874 v K972 v E109542
4765 ¢+ KD2 ¢E
#K8732 #EKD5 #8654
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
555 3v0O= 43 -140 58.0 0.0|30 17 24DN+1 %4 870 580 00| 4 2 4v N+1 46 450 51.0 7.0
21 57 2NO +1 43 -150 55.0 3.0(/60 1 3NS= vT 600 56.0 20| 5 55 4v S+1 v6 450 510 7.0
29 12 2N O +1 43 -150 55.0 3.0|42 31 3v O-2 A 200 53.0 5.0|25 36 4v S+1 LY 450 51.0 7.0
34 11 2N O +2 *2 -180 52.0 6.0|51 58 2ND O -1 «Q 200 53.0 5.0|27 23 4v S+1 2 450 51.0 7.0
45 52 2N O +3 3 -210 50.0 8.0|19 14 24 N+1 %] 140 47.0 11.0|30 17 4v S+1 2 450 51.0 7.0
3 50 3NO= 43 -600 40.0 18.0|32 62 24 N+1 aA 140 47.0 11.0(34 11 4v S+1 v6 450 51.0 7.0
6 8 3NO= *2 -600 40.0 18.0|39 26 34 S= v3 140 47.0 11.0|38 43 4v S+1 a4 450 51.0 7.0
15 22 3NV = 43 -600 40.0 18.0 |41 53 24 N+1 sA 140 47.0 11.0|42 31 4v S+1 2 450 510 7.0
19 14 3NO= 43 -600 40.0 18.0| 6 8 24 N= *J 110 35.0 23.0(29 12 4v S= v3 420 42.0 16.0
32 62 3NO= 43 -600 40.0 18.0|15 22 24 N= %] 110 350 23.0| 3 50 2v S+3 v3 200 21.0 37.0
38 43 3NO= *2 -600 40.0 18.0|21 57 24 N= vA 110 350 23.0| 6 8 2v S+3 ¢A 200 21.0 37.0
41 53 3NO= 43 -600 40.0 18.0|25 36 24 N= *J 110 35.0 23.0| 7 47 3v S+2 43 200 21.0 37.0
51 58 BNO = 43 -600 40.0 18.0|37 28 24 N= 3 110 350 23.0| 9 33 2v S+3 v6 200 21.0 37.0
54 10 3NO = 3 -600 40.0 18.0|38 43 24 N= %] 110 35.0 23.0|15 22 2v S+3 v2 200 21.0 37.0
4 2 3NO+1 *2 -630 15.0 43.0|45 52 24 N= sA 110 35.0 23.0(18 20 3v S+2 «Q 200 21.0 37.0
7 47 3NO+1 *2 -630 15.0 43.0|59 48 24 N= %] 110 350 23.0|19 14 3v S+2 v3 200 21.0 37.0
9 33 3NO+1 43 -630 15.0 43.0| 5 55 34 S-1 *T -100 22.0 36.0|21 57 2v S+3 a4 200 21.0 37.0
13 35 3NO +1 a2 -630 15.0 43.0| 9 33 34 S-1 v3 -100 22.0 36.0|24 44 3v S+2 2 200 21.0 37.0
18 20 3NO +1 3 -630 15.0 43.0(24 44 34 N-1 vA -100 22.0 36.0|32 62 3v S+2 v6 200 21.0 37.0
24 44 3N O +1 43 -630 15.0 43.0(34 11 44 N-1 %] -100 22.0 36.0|37 28 2v S+3 2 200 21.0 37.0
25 36 3NO +1 *2 -630 15.0 43.0(|56 16 44 N-1 vA -100 22.0 36.0|39 26 2v S+3 2 200 21.0 37.0
27 23 3NO+1 3 -630 15.0 43.0| 3 50 44 S-2 v4 -200 11.0 47.0|41 53 3v S+2 2 200 21.0 37.0
30 17 3NO +1 *2 -630 15.0 43.0|13 35 44 S-2 *T -200 11.0 47.0|45 52 2v S+3 v3 200 21.0 37.0
37 28 3NO +1 *2 -630 15.0 43.0(18 20 44 N-2 vA -200 11.0 47.0|46 49 2v S+3 v3 200 21.0 37.0
39 26 3NO +1 »2 -630 15.0 43.0|27 23 44 S-2 v3 -200 11.0 47.0|51 58 3v S+2 v3 200 21.0 37.0
42 31 3NO+1 *2 -630 15.0 43.0|29 12 3NS-2 v3 -200 11.0 47.0|54 10 3v N+2 v3 200 21.0 37.0
46 49 3N O +1 *2 -630 15.0 43.0|46 49 44 S-2 vT -200 11.0 47.0|56 16 2v S +3 a4 200 21.0 37.0
56 16 3N O +1 43 -630 15.0 43.0|54 10 44 S-3 *T -300 4.0 54.0|59 48 2v S+3 a4 200 21.0 37.0
59 48 3NO +1 *2 -630 15.0 43.0| 4 2 54DN-3 ] -800 1.0 57.0|60 1 2v S+3 a4 200 21.0 37.0
60 1 3NO+1 v8 -630 15.0 43.0| 7 47 44DN-3 *] -800 1.0 57.0|13 35 2v S+2 2 170 0.0 58.0
40 - 26.6 40 - 26.6 40 - 26.6
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